& doubtnut

India's Number 1 Education App

CHEMISTRY

BOOKS - OSWAL PUBLICATION

PERIODIC CLASSIFICATION OF
ELEMENTS

Stand Alone Mcqgs

1. The positions of four elements A, B, Cand D

in the modern periodic table are shown below.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5yHrBJkL57LX

Which element is most likely to form an acidic

oxide?

A A

B.B

C.C

D.D

Answer: C

| & |


https://dl.doubtnut.com/l/_5yHrBJkL57LX

| ' Watch Video Solution |

2. Elements P, Q, R and Shave atomic numbers

11,15, 17 and 18 respectively. Which of them are

reactive non-metals?

A.Pand Q

B.PandR

C.QandR

D.Rand S

Answer: C



https://dl.doubtnut.com/l/_5yHrBJkL57LX
https://dl.doubtnut.com/l/_BiKLVjVOQ89h

o Watch Video Solution

3. Consider the following statements about an
element 'X' with number of protons 13.

(A) It forms amphoteric oxide.

(B) Its valency is three.

(C) The formula of its chloride is XCI.

(D) The correct statements(s) is/are:

A. only (A)

B. only (B)

C. (A) and (C)


https://dl.doubtnut.com/l/_BiKLVjVOQ89h
https://dl.doubtnut.com/l/_BLhV6ZjTHlQ0

D. (A), (B) and (C)

Answer: A::B::D

° Watch Video Solution

4. Upto which element, the Law of Octaves was

found to be applicable ?

A. Oxygen

B. Calcium

C. Cobalt


https://dl.doubtnut.com/l/_BLhV6ZjTHlQ0
https://dl.doubtnut.com/l/_yttCtDMVHFJa

D. Potassium

Answer: B

° Watch Video Solution

5. According to Mendeleev' periodic law, the

elements were arranged in the periodic table

in the order of

A. increasing atomic number

B. decreasing atomic number


https://dl.doubtnut.com/l/_yttCtDMVHFJa
https://dl.doubtnut.com/l/_AxCvgydTvE9W

C. increasing atomic masses

D. decreasing atomic masses

Answer: C

o Watch Video Solution

6. Which of the following is not a merit of

Mendeleev's periodic table?

A. Germanium

B. Chlorine


https://dl.doubtnut.com/l/_AxCvgydTvE9W
https://dl.doubtnut.com/l/_K2Ddasvbqn4v

C. Oxygen

D. Silicon

Answer: A

° Watch Video Solution

7. What type of oxide would Eka-aluminium

form ?

A. EO;

B. E,0,


https://dl.doubtnut.com/l/_K2Ddasvbqn4v
https://dl.doubtnut.com/l/_bFWzEdusoeak

C. E,O3

D.EO

Answer: C

° Watch Video Solution

8. Which of these does not represent

Dobereiner's triad?

A.Li, Na, K

B. Cl, Br, |


https://dl.doubtnut.com/l/_bFWzEdusoeak
https://dl.doubtnut.com/l/_9RsCMrUYIQIl

C.Be, Mg, Ca

D. NP As

Answer: D

o Watch Video Solution

9. An element 'X' is forming an acidic oxide. Its

position in modern periodic table will be:

A. Group 1and Period 3

B. Group 2 and Period 3


https://dl.doubtnut.com/l/_9RsCMrUYIQIl
https://dl.doubtnut.com/l/_T6HOWO5rs8DR

C. Group 13 and Period 3

D. Group 16 and Period 3

Answer: D

o Watch Video Solution

10. Where would you locate the element with
electronic configuration 2,8 in the modern

periodic table ?

A. Group 8


https://dl.doubtnut.com/l/_T6HOWO5rs8DR
https://dl.doubtnut.com/l/_VSLlevqoJTLW

B. Group 2

C. Group 18

D. Group 10

Answer: C

o Watch Video Solution

1. Which of the following is the outermost

shell for elements of period 2 ?

A. K shell


https://dl.doubtnut.com/l/_VSLlevqoJTLW
https://dl.doubtnut.com/l/_P9BOh4NqBjb4

B. L shell

C. M shell

D. N shell

Answer: B

o Watch Video Solution

12. Arrange the following elements in the
order of their decreasing metallic charcter Na,

Si, Cl, Mg, Al.


https://dl.doubtnut.com/l/_P9BOh4NqBjb4
https://dl.doubtnut.com/l/_vJedNpdiPxAp

A.Cl > 8i > Al > Mg > Na

B.Na > Mg > Al > Si > Cl

C.Na > Al > Mg > Cl > 5%

D. Al > Na > St > Ca > Mg

Answer: B

o Watch Video Solution

13. Which of the following elements will form

an acidic oxide ?


https://dl.doubtnut.com/l/_vJedNpdiPxAp
https://dl.doubtnut.com/l/_wKFCN41rVgXN

A. An element with atomic number 7

B. An element with atomic nhumber 3

C. An element with atomic number 12

D. An element with atomic number 19

Answer: A

o Watch Video Solution

14. Which of the following set of elements is
written in order of their increasing metallic

character ?


https://dl.doubtnut.com/l/_wKFCN41rVgXN
https://dl.doubtnut.com/l/_wfOOnjuDyQSJ

A. Be, Mg, Ca

B. Na, Li, K

C. Mg, Al, Si

D.CON A

Answer: A

o Watch Video Solution

15. Which of the following are the
characteristics of isotopes of an element?

(i) Isotopes of an element have same atomic


https://dl.doubtnut.com/l/_wfOOnjuDyQSJ
https://dl.doubtnut.com/l/_FT90NfxjcqQh

masses.
(i) Isotopes of an element have same atomic
number

(ili) Isotopes of an element show same
physical properties.

(iv) Isotopes of an element show same

chemical properties.

A. (i), (iii) and (iv)

B. (i), (i) and (iv)

C. (i) and (i) (iii)

D. (ii) and (iv)


https://dl.doubtnut.com/l/_FT90NfxjcqQh

Answer: D

o Watch Video Solution

16. Which of the following statements is not a
correct statement about the trends when
going from left to right across the periods of
periodic Table.

A. The elements become less metallic

B.The number of valence electrons

increases


https://dl.doubtnut.com/l/_FT90NfxjcqQh
https://dl.doubtnut.com/l/_7SEUzKusybuy

C.The atoms lose their electrons more

easily

D. The oxides become more acidic.

Answer: C

o Watch Video Solution

Assertion And Reason Based Mcqs

1. Assertion (A): Mendeleev arranged element

in horizontal rows and vertical columns.


https://dl.doubtnut.com/l/_7SEUzKusybuy
https://dl.doubtnut.com/l/_pjO64tpVcali

Reason (R): Mendeleev ignored the order of

atomic weight thinking that the atomic

measurements might be incorrect.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. A is false and R is true.

Answer: A



https://dl.doubtnut.com/l/_pjO64tpVcali

‘ ° Watch Video Solution

2. Assertion (A): Mendeleev left the gap under
aluminium and silicon and called these Eka-
aluminium and Eka-silicon, respectively.

Reason (R): Dobereiner arranged elements on

the basis of increasing atomic number.

A.Both A and R are true and R is the

correct explanation of A.


https://dl.doubtnut.com/l/_pjO64tpVcali
https://dl.doubtnut.com/l/_R01fzs0JqZS6

B.Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o Watch Video Solution

3. Assertion (A): In triad, the three elements
have same gaps of atomic masses. ,br> Reason

(R): Elements in a triad have similar properties.


https://dl.doubtnut.com/l/_R01fzs0JqZS6
https://dl.doubtnut.com/l/_4vjHnX4LV70j

A.Both A and R are true and R is the

correct explanation of A.

B.Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4vjHnX4LV70j

4., Assertion (A): According to Mendeleey,
periodic properties of elements is a function
of their atomic number.

Reason (R): Atomic number is equal to the

number of protons.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.


https://dl.doubtnut.com/l/_fUCZE8RI83cI

D. Ais false and R is true.

Answer: D

° Watch Video Solution

5. Assertion (A): Sixth and seventh periods in
the periodic table contains 14 elements.

Reason (R): In the periodic table, 14 elements
of sixth and seventh periods are known as

lanthanoids and actinoids.


https://dl.doubtnut.com/l/_fUCZE8RI83cI
https://dl.doubtnut.com/l/_iRhhrqtO5j4o

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iRhhrqtO5j4o

6. Directions : In the following questions, a
statement of assertion (A) is followed by a
statement of reason (R). Mark the correct
choice as :

Assertion (A) : Be and Al show some similar
properties.

Reason (R) : The metallic radius of Be is less

than the metallic radius of Al.

A.Both A and R are true and R is the

correct explanation of A.


https://dl.doubtnut.com/l/_N89WGx9wLRrx

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: B

o Watch Video Solution

7. Assertion (A): The atomic and ionic radii

generally decrease towards right in a period.


https://dl.doubtnut.com/l/_N89WGx9wLRrx
https://dl.doubtnut.com/l/_QtKGIxskyOVp

Reason (R): The ionisation enthalpy increases

on moving towards left in a period.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QtKGIxskyOVp

8. Directions : In the following questions, a
statement of assertion (A) is followed by a
statement of reason (R). Mark the correct
choice as :

Assertion (A) : Smaller the size of an atom,
greater is the electronegativity.

Reason (R) : Electronegativity refers to the
tendency of atom to share electrons with

other atom.


https://dl.doubtnut.com/l/_QtKGIxskyOVp
https://dl.doubtnut.com/l/_b6xS2aYxjtO9

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_b6xS2aYxjtO9

9. Assertion (A): Noble gases are highly

reactive.

Reason (R): Noble gases have stable closed

shell electronic configuration.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.


https://dl.doubtnut.com/l/_94mr0mJ5bZUw

Answer: D

o Watch Video Solution

Case Based Mcqs

1. Mendeleev was a Russian chemist, who

contributed the most for the development of
periodic table of elements wherein the
elements were arranged on the basis of their
fundamental property, the atomic mass and

also on the similarity of chemical properties.


https://dl.doubtnut.com/l/_94mr0mJ5bZUw
https://dl.doubtnut.com/l/_W7FZWivABCel

Only 63 elements were known at his time. He
arranged the 63 elements in the increasing
order of their atomic masses and found that
there was a periodic recurrence of elements
with similar physical and chemical properties,
He observed that elements with similar
properties fall in the same vertical column.
These vertical columns are called groups and
horizontal rows of elements are called periods.
Mendeleev predicted the existence of certain
elements not known at that time and named

two of them as Eka-silicon and Eka-aluminium.


https://dl.doubtnut.com/l/_W7FZWivABCel

Mendeleev arranged the periodic table on the

basis of their fundamental property:

A. Atomic mass

B. Atomic number

C. Number of neutrons

D. Valence electrons

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_W7FZWivABCel

2. Mendeleev was a Russian chemist, who
contributed the most for the development of
periodic table of elements wherein the
elements were arranged on the basis of their
fundamental property, the atomic mass and
also on the similarity of chemical properties.
Only 63 elements were known at his time. He
arranged the 63 elements in the increasing
order of their atomic masses and found that
there was a periodic recurrence of elements
with similar physical and chemical properties,

He observed that elements with similar


https://dl.doubtnut.com/l/_CZaviU74koYl

properties fall in the same vertical column.
These vertical columns are called groups and
horizontal rows of elements are called periods.
Mendeleev predicted the existence of certain
elements not known at that time and named
two of them as Eka-silicon and Eka-aluminium.
Eka aluminium and eka silicon were later

replaced respectively as :

A. Germanium and gallium

B. Gallium and scandium

C. Gallium and germanium


https://dl.doubtnut.com/l/_CZaviU74koYl

D. Germanium and scandium

Answer: D

o Watch Video Solution

3. Mendeleev was a Russian chemist, who
contributed the most for the development of
periodic table of elements wherein the
elements were arranged on the basis of their
fundamental property, the atomic mass and

also on the similarity of chemical properties.


https://dl.doubtnut.com/l/_CZaviU74koYl
https://dl.doubtnut.com/l/_WnQ161qn27SL

Only 63 elements were known at his time. He
arranged the 63 elements in the increasing
order of their atomic masses and found that
there was a periodic recurrence of elements
with similar physical and chemical properties,
He observed that elements with similar
properties fall in the same vertical column.
These vertical columns are called groups and
horizontal rows of elements are called periods.
Mendeleev predicted the existence of certain
elements not known at that time and named
two of them as Eka-silicon and Eka-aluminium.

The elements eka aluminium and eka silicon


https://dl.doubtnut.com/l/_WnQ161qn27SL

discovered by Mendeleev later found place in

periodic table. Both of these elements belong

to:

A. Period 2

B. Group 13

C. Group 14

D. Period 4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WnQ161qn27SL
https://dl.doubtnut.com/l/_3KFEkdlTupRx

4. Mendeleev was a Russian chemist, who
contributed the most for the development of
periodic table of elements wherein the
elements were arranged on the basis of their
fundamental property, the atomic mass and
also on the similarity of chemical properties.
Only 63 elements were known at his time. He
arranged the 63 elements in the increasing
order of their atomic masses and found that
there was a periodic recurrence of elements
with similar physical and chemical properties,

He observed that elements with similar


https://dl.doubtnut.com/l/_3KFEkdlTupRx

properties fall in the same vertical column.
These vertical columns are called groups and
horizontal rows of elements are called periods.
Mendeleev predicted the existence of certain
elements not known at that time and named
two of them as Eka-silicon and Eka-aluminium.

Mendeleev's periodic table has:

A. 8 groups and 7 periods

B. 7 groups and 8 periods.

C.7 groups and 7 periods

D. 8 groups and 8 periods


https://dl.doubtnut.com/l/_3KFEkdlTupRx

Answer: A

° Watch Video Solution

5. Mendeleev was a Russian chemist, who
contributed the most for the development of
periodic table of elements wherein the
elements were arranged on the basis of their
fundamental property, the atomic mass and
also on the similarity of chemical properties.
Only 63 elements were known at his time. He

arranged the 63 elements in the increasing


https://dl.doubtnut.com/l/_3KFEkdlTupRx
https://dl.doubtnut.com/l/_1T02MsnkDIIJ

order of their atomic masses and found that
there was a periodic recurrence of elements
with similar physical and chemical properties,
He observed that elements with similar
properties fall in the same vertical column.
These vertical columns are called groups and
horizontal rows of elements are called periods.
Mendeleev predicted the existence of certain
elements not known at that time and named
two of them as Eka-silicon and Eka-aluminium.
How do we classify these newly discovered

elements (eka-aluminium and eka-silicon)?


https://dl.doubtnut.com/l/_1T02MsnkDIIJ

A. Metals

B. Non metals

C. Metalloids

D. Inert gases

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1T02MsnkDIIJ

Which of these elements have smallest atomic

size?

A.B

B.C

C.D

D.E

Answer: D



https://dl.doubtnut.com/l/_3OlMikJKFPNw

o Watch Video Solution

7.

e
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Write valency of element E.

Al

B.3

C.2

D.O


https://dl.doubtnut.com/l/_3OlMikJKFPNw
https://dl.doubtnut.com/l/_XSlP91ye6hgO

Answer: C

o Watch Video Solution

-

8.

Identify the elements which have similar

chemical properties as the element X.

A.Yand Z

B.Yand B


https://dl.doubtnut.com/l/_XSlP91ye6hgO
https://dl.doubtnut.com/l/_CZSdtFop5eLC

C.AllY,Zand B

D. None of these

Answer: A

° Watch Video Solution

O.

The number of period that the modern

periodic table has


https://dl.doubtnut.com/l/_CZSdtFop5eLC
https://dl.doubtnut.com/l/_byheOahGqa1Z

A. Seven

B. Eight

C. Seventeen

D. Eighteen

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_byheOahGqa1Z

10.

Which of them will have largest atomic radii:

A E

B.X

C.C

D.D

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SDSrQdywmCvS

11. Atoms of eight elements A, B, C, D, E, F, G
and H have the same number of electronic
shells but are different in their outermost
shells. It was found that elements A and G
combine to form an ionic compound which
can also be extracted from sea water. Oxides
of the elements A and B are basic in nature
while those of E and F are acidic. The oxide of
elements D is almost neutral.

Which of the following is likely to be halogen?


https://dl.doubtnut.com/l/_SDSrQdywmCvS
https://dl.doubtnut.com/l/_7mqmcJQnF3a0

A.D

B.G

C.H

D.A

Answer: B

o Watch Video Solution

12. Atoms of eight elements A, B, C, D, E, F, G
and H have the same number of electronic

shells but are different in their outermost


https://dl.doubtnut.com/l/_7mqmcJQnF3a0
https://dl.doubtnut.com/l/_pkKxjfbFsu0X

shells. It was found that elements A and G
combine to form an ionic compound which
can also be extracted from sea water. Oxides
of the elements A and B are basic in nature
while those of E and F are acidic. The oxide of
elements D is almost neutral.

Which one of the following elements is likely

to be a noble gas?

A A

B.H

C.D


https://dl.doubtnut.com/l/_pkKxjfbFsu0X

D.F

Answer: B

o Watch Video Solution

13. Atoms of eight elements A, B, C, D, E, F, G
and H have the same number of electronic
shells but are different number of electrons in
their outermost shells. It was found that
elements A and G combine to form an ionic

compound which can also be extracted from


https://dl.doubtnut.com/l/_pkKxjfbFsu0X
https://dl.doubtnut.com/l/_QM2Q4tkNqRZN

sea water. Oxides of the elements A and B are
basic in nature while those of E and F are
acidic. The oxide of elements D is almost
neutral.
Which two elements amongst these are likely
to be the non-metals ?

A.Aand G

B.Dand F

C.EandF

D.AandB

Answer: C


https://dl.doubtnut.com/l/_QM2Q4tkNqRZN

o Watch Video Solution

14. Atoms of eight elements A, B, C, D, E, F, G
and H have the same number of electronic
shells but are different in their outermost
shells. It was found that elements A and G
combine to form an ionic compound which
can also be extracted from sea water. Oxides
of the elements A and B are basic in nature
while those of E and F are acidic. The oxide of

elements D is almost neutral.


https://dl.doubtnut.com/l/_QM2Q4tkNqRZN
https://dl.doubtnut.com/l/_8Cu0eF3uBZ9E

Which one of the following will have largest

atomic radii?

A A

B.H

C.G

D.B

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8Cu0eF3uBZ9E

15. Atoms of eight elements A, B, C, D, E, F, G
and H have the same number of electronic
shells but are different in their outermost
shells. It was found that elements A and G
combine to form an ionic compound which
can also be extracted from sea water. Oxides
of the elements A and B are basic in nature
while those of E and F are acidic. The oxide of
elements D is almost neutral.

To which period the listed elements belong?

A. 2nd


https://dl.doubtnut.com/l/_xwM01JDDQvPq

B. 7th

C. 8th

D. 3rd

Answer: D

o Watch Video Solution

1 2 (13| 14 |[15 16 17
Lithium Carbon WH

X P Q

Y R

16. _ .S

Which is the most reactive metal ?


https://dl.doubtnut.com/l/_xwM01JDDQvPq
https://dl.doubtnut.com/l/_7CVUqRYOAkwB

A. Lithium

B.X

C.Y

D.Z

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7CVUqRYOAkwB

1 2(13] 4 |15 16 17
Lithium Carbon Oxygen Fluorine
X P Q
Y R
17. L= .

Name the family of fluorine Q, R, T:

A. Alkali metals

B. Noble gas

C. Halogens

D. Alkaline metals

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_JHi0pvZavBLV

1 |2]1s] 14 |15] 16 17
Lithium Carbon | | Oxygen | Fluorine
X P . Q |
i [ R_|

18. | 7 f

Which of the following element belongs to

group 27

A. Sodium

B. Magnesium

C. Aluminium

D. Carbon


https://dl.doubtnut.com/l/_JHi0pvZavBLV
https://dl.doubtnut.com/l/_1vCBsKCanyaK

Answer: B

o Watch Video Solution

1 |2l 1w [15] 16 17
Lithium Carbon| | Oxygen |Fluarine
X p Q
Y - R
19. “ AT

Which other element is likely to present in the

group in which fluorine is present:

A. Neon

B. Aluminium


https://dl.doubtnut.com/l/_1vCBsKCanyaK
https://dl.doubtnut.com/l/_6zDAAhBSWbRc

C. Chlorine

D. None of the above

Answer: C

° Watch Video Solution

1 |21 w 18] 16 | »

Lithium Carbon| | Oxygen | Fluorine
X P Q
Y R
F 4 T

20.

Name the element P placed below Carbon in

group 14:


https://dl.doubtnut.com/l/_6zDAAhBSWbRc
https://dl.doubtnut.com/l/_1qCQpyrwWsSF

A. Aluminium

B. Silicon

C. Phosphorus

D. Sulphur

Answer: B

° Watch Video Solution

Self Assessment 1 Objective Type Questions



https://dl.doubtnut.com/l/_1qCQpyrwWsSF

1. fRgfafEad & A &9 - 91 U StaveR As A8 & ?

A.LiNa K
B.Cl Br
C.Be Mg Ca

D. NP As

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_y1Iz6AOuBuyl

2. On what basis Mendeleev's classified the

elements?

A. Atomic number

B. Atomic masses

C. Both (i) and (ii)

D. Groups and periods

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_IBjQ2qP8jZCB
https://dl.doubtnut.com/l/_P6Lm17i9Lqs4

3. Which of the following statements about

the Modern Periodic Table is incorrect?

A. It has 18 vertical columns

B. It has 7 horizontal rows.

C. Elements of period do not have the

same number of valence electrons.

D. Elements present in a group do not have

the same valency.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_P6Lm17i9Lqs4

4, Read the passage and answer the following
questions.

Mendeleev was a Russian chemist, who
contributed the most for the development of
periodic table of elements wherein the
elements were arranged on the basis of their
fundamental property, the atomic mass and
also on the similarity of chemical properties.
Only 63 elements were known at his time. He
arranged the 63 elements in the increasing

order of the.ir atomic masses and found that


https://dl.doubtnut.com/l/_P6Lm17i9Lqs4
https://dl.doubtnut.com/l/_8lbagMWxtB3s

there was a periodic recurrence of elements
with similar physical and chemical properties.
He observed that elements with similar
properties fall in the same vertical column.
These vertical columns are called groups and
horizontal rows of elements are called periods.
Mendeleev predicted the existence of certain
elements not known at that time and named
two of them as Eka-silicon and Eka-aluminium.
Name the elements which have taken the

place of these elements.

o Watch Video Solution



https://dl.doubtnut.com/l/_8lbagMWxtB3s

5. Read the passage and answer the following
questions.

Mendeleev was a Russian chemist, who
contributed the most for the development of
periodic table of elements wherein the
elements were arranged on the basis of their
fundamental property, the atomic mass and
also on the similarity of chemical properties.
Only 63 elements were known at his time. He
arranged the 63 elements in the increasing
order of the.ir atomic masses and found that

there was a periodic recurrence of elements


https://dl.doubtnut.com/l/_UxQE2QIdv1ZQ

with similar physical and chemical properties.
He observed that elements with similar
properties fall in the same vertical column.
These vertical columns are called groups and
horizontal rows of elements are called periods.
Mendeleev predicted the existence of certain
elements not known at that time and named
two of them as Eka-silicon and Eka-aluminium.
Mention the group and the period of these

elements in the modern periodic table.

O Watch Video Solution



https://dl.doubtnut.com/l/_UxQE2QIdv1ZQ
https://dl.doubtnut.com/l/_yaHLTqCBnj73

6. Read the passage and answer the following
questions.

Mendeleev was a Russian chemist, who
contributed the most for the development of
periodic table of elements wherein the
elements were arranged on the basis of their
fundamental property, the atomic mass and
also on the similarity of chemical properties.
Only 63 elements were known at his time. He
arranged the 63 elements in the increasing
order of the.ir atomic masses and found that
there was a periodic recurrence of elements

with similar physical and chemical properties.


https://dl.doubtnut.com/l/_yaHLTqCBnj73

He observed that elements with similar
properties fall in the same vertical column.
These vertical columns are called groups and
horizontal rows of elements are called periods.
Mendeleev predicted the existence of certain
elements not known at that time and named
two of them as Eka-silicon and Eka-aluminium.
Classify these elements as metals, non-metals

and metalloids.

o Watch Video Solution



https://dl.doubtnut.com/l/_yaHLTqCBnj73

7. Read the passage and answer the following
questions.

Mendeleev was a Russian chemist, who
contributed the most for the development of
periodic table of elements wherein the
elements were arranged on the basis of their
fundamental property, the atomic mass and
also on the similarity of chemical properties.
Only 63 elements were known at his time. He
arranged the 63 elements in the increasing
order of the.ir atomic masses and found that

there was a periodic recurrence of elements


https://dl.doubtnut.com/l/_LGIL9KsEMi6Z

with similar physical and chemical properties.
He observed that elements with similar
properties fall in the same vertical column.
These vertical columns are called groups and
horizontal rows of elements are called periods.
Mendeleev predicted the existence of certain
elements not known at that time and named
two of them as Eka-silicon and Eka-aluminium.
How many valence electrons are present in

each one of them?

O Watch Video Solution



https://dl.doubtnut.com/l/_LGIL9KsEMi6Z
https://dl.doubtnut.com/l/_eT4wnU3UWYcG

8. Directions: In the following questions, a
statement of assertion (A) is followed by a
statement of reason (R). Mark the correct
choice as:

Assertion (A) : Mendeleev' left the gap under
aluminium and silicon and called these Eka-
aluminium and Eka-silicon, respectively.

Reason (R) : Dobereiner arranged elements on

the basis of increasing atomic number.

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct


https://dl.doubtnut.com/l/_eT4wnU3UWYcG

explanation of assertion (A).

B. Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).

C. Assertion (A) is true but reason (R) is

false.

D. Assertion (A) is false but reason (R) is

true.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eT4wnU3UWYcG

9. Directions: In the following questions, a
statement of assertion (A) is followed by a
statement of reason (R). Mark the correct
choice as :

Assertion (A) : Mendeleev's arranged element
in horizontal rows and vertical columns.
Reason (R) : Mendeleev's ignored the order of
atomic weight thinking that the atomic

measurements might be incorrect.


https://dl.doubtnut.com/l/_eT4wnU3UWYcG
https://dl.doubtnut.com/l/_QYFmegOOM9Xh

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct

explanation of assertion (A).

B.Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).

C. Assertion (A) is true but reason (R) is

false.

D. Assertion (A) is false but reason (R) is

true.


https://dl.doubtnut.com/l/_QYFmegOOM9Xh

Answer:

o Watch Video Solution

10. Why was the system of classification of

elements into triads not found suitable ?

° Watch Video Solution

11. Why hydrogen should be placed in group | ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QYFmegOOM9Xh
https://dl.doubtnut.com/l/_Twm9ZmC5Wg1h
https://dl.doubtnut.com/l/_RO8b9M0iB0uo

12. Write the formula used to determine the

maximum numbers of electrons which a shell

in an atom can accommodate.

° Watch Video Solution

13. Compare and contrast the arrangement of
elements in Mendeléevs Periodic Table and

the Modern Periodic Table.

° Watch Video Solution



https://dl.doubtnut.com/l/_RO8b9M0iB0uo
https://dl.doubtnut.com/l/_tnQqSPkiZi1v
https://dl.doubtnut.com/l/_WcyEU4onephD

Self Assessment 2 Objective Type Questions

1. The positions of four elements A, B, C and
Din the modern periodic table are shown
below. Which element is most likely to form an

acidic oxide?

_ @1
AL NENNEN
1 E c .
1 +‘|‘|‘F“
A A

B.B


https://dl.doubtnut.com/l/_ifAn8rDfC22p

C.C

D.D

Answer:

O Watch Video Solution

2. Elements P, Q R and S have atomic numbers
11,15, 17 and 18 respectively. Which of them are

reactive non-metals?

A.Pand Q


https://dl.doubtnut.com/l/_ifAn8rDfC22p
https://dl.doubtnut.com/l/_LhnXKXXbaaTX

B.PandR

C.QandR

D.Rand S

Answer:

o Watch Video Solution

3. Arrange the given elements in increasing

order of their atomic radii? Li, Be, F and N

AF <N < Be< Ls


https://dl.doubtnut.com/l/_LhnXKXXbaaTX
https://dl.doubtnut.com/l/_1ExYtKX12AVh

B.ILt < F < N < Be

CBe< Li<F <N

DN < Be < Lt < F

Answer:

o Watch Video Solution

4. From the following part of the periodic

table, answer the following questions :


https://dl.doubtnut.com/l/_1ExYtKX12AVh
https://dl.doubtnut.com/l/_CBMlkukvxWG2

Which is the most reactive metal ?

o Watch Video Solution

5. From the following part of the periodic

table, answer the following questions :

X P Q
___...-__"_" e '“_i'
Z T

Name the family of fluorine Q, R, T.


https://dl.doubtnut.com/l/_CBMlkukvxWG2
https://dl.doubtnut.com/l/_lQZ8jC8dCDhi

° Watch Video Solution

6. From the following part of the periodic

table, answer the following questions :

1 .Ian,' !

Moo=
HH-CI

Name one element each of group 2 and 15.

o Watch Video Solution



https://dl.doubtnut.com/l/_lQZ8jC8dCDhi
https://dl.doubtnut.com/l/_KnhB7vhe2UWg

7. From the following part of the periodic

table, answer the following questions :

1 2. 1B 14 15 16 17
Lithium Carbon Oxygen  Fluorine
X P Q
[ R
Fi 1

Compare X and P with respect to the size of

atoms.

o Watch Video Solution

8. Directions : In the following questions, a

statement of assertion (A) is followed by a


https://dl.doubtnut.com/l/_KESLhH3Mi2rl
https://dl.doubtnut.com/l/_Jz3oGTeo86xW

statement of reason (R). Mark the correct

choice as :

Assertion (A) : Be and Al show some similar

properties.

Reason (R) : The metallic radius of Be is less

than the metallic radius of Al.

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct

explanation of assertion (A).

B. Both assertion (A) and reason (R) are

true but reason (R) is not the correct


https://dl.doubtnut.com/l/_Jz3oGTeo86xW

explanation of assertion (A).

C. Assertion (A) is true but reason (R) is

false.

D. Assertion (A) is false but reason (R) is

true.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Jz3oGTeo86xW

9. Directions : In the following questions, a
statement of assertion (A) is followed by a
statement of reason (R). Mark the correct
choice as :

Assertion (A) : Smaller the size of an atom,
greater is the electronegativity.

Reason (R) : Electronegativity refers to the
tendency of atom to share electrons with

other atom.

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct


https://dl.doubtnut.com/l/_5yH1F12bwecL

explanation of assertion (A).

B. Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).

C. Assertion (A) is true but reason (R) is

false.

D. Assertion (A) is false but reason (R) is

true.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5yH1F12bwecL

10. How does valency of an element vary across

a period?

° Watch Video Solution

1. Name two elements of first period in

modern periodic table.

o Watch Video Solution



https://dl.doubtnut.com/l/_5yH1F12bwecL
https://dl.doubtnut.com/l/_WDJrHIxTWRrw
https://dl.doubtnut.com/l/_WhQc2XvyhJs7

12. The atomic numbers of three elements X, Y
and Z are 3, 11 and 17, respectively. State giving
reason which two elements will show similar

chemical properties.

o Watch Video Solution

13. Two elements X and Y have atomic numbers
12 and 16 respectively. To which period of the
modern periodic table do these two elements

belong? What type of bond will be formed


https://dl.doubtnut.com/l/_mcPdC0xHXkhv
https://dl.doubtnut.com/l/_pOnLWwDBZjBX

between them and why? Also give the

chemical formula of the compound formed.

° Watch Video Solution

14. The electronic configuration of an element
X' is 2, 8, 6. To which group and period of the
modern periodic table does 'X' belongs ? State
its valency and justify your answer in each

case.

° Watch Video Solution



https://dl.doubtnut.com/l/_pOnLWwDBZjBX
https://dl.doubtnut.com/l/_6xtMr30Ld7hC
https://dl.doubtnut.com/l/_cKrE1VlXruQk

15. An element "X" has mass number 35 and
number of neutrons is 18. Identify group

number and period of the element "X".

° Watch Video Solution

Ncert Corner Intext Corner

1. Did Dobereiner’s triads also exist in the

columns of Newlands’ Octaves? Compare and

find out.

| €8 l


https://dl.doubtnut.com/l/_cKrE1VlXruQk
https://dl.doubtnut.com/l/_1ebkWndoikiP

L ' Watch Video Solution J

2. What were the limitations of Dobereiner’s

classification?

o Watch Video Solution

3. What were the limitations of Newlands’ Law

of Octaves?

° Watch Video Solution



https://dl.doubtnut.com/l/_1ebkWndoikiP
https://dl.doubtnut.com/l/_fzhD9lx1F7X6
https://dl.doubtnut.com/l/_SuVnEc538zLD

4, Use Mendeléev’s Periodic Table to predict
the formulae for the oxides of the following
elements:

K, C, Al, Si, Ba.

° Watch Video Solution

5. Besides gallium, which other elements have
since been discovered that were left by

Mendeléev in his Periodic Table? (any two)

° Watch Video Solution



https://dl.doubtnut.com/l/_k0lsIgfHLwaQ
https://dl.doubtnut.com/l/_jaDpy5JCp0B6

6. What were the two criteria used by

Mendeleev in creating his periodic table?

o Watch Video Solution

7.Why do you think the noble gases are placed

in a separate group?

o Watch Video Solution



https://dl.doubtnut.com/l/_jaDpy5JCp0B6
https://dl.doubtnut.com/l/_ct2ML5oqqXnM
https://dl.doubtnut.com/l/_nH7c8FZ5E1Th

8. How could the Modern Periodic Table

remove various anomalies of Mendeléev’s

Periodic Table?

o Watch Video Solution

9. Name two elements you would expect to
show chemical reactions similar to

magnesium. What is the basis for your choice?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZlF8ygMwr4uF
https://dl.doubtnut.com/l/_HNAfx2WVhlPY
https://dl.doubtnut.com/l/_JMjeuyM9uaLH

10. Name
three elements that have a single electron in

their outermost shells.

o Watch Video Solution

11. Name

two elements that have two electrons in their

outermost shells.

o Watch Video Solution



https://dl.doubtnut.com/l/_JMjeuyM9uaLH
https://dl.doubtnut.com/l/_JW4kAjyuNx1a
https://dl.doubtnut.com/l/_m3wgVGRfdSId

12. Name

three elements with filled outermost shells.

o Watch Video Solution

13. Lithium, sodium, potassium are all metals
that react with water to liberate hydrogen gas.
Is there any similarity in the atoms of these

elements?

o Watch Video Solution



https://dl.doubtnut.com/l/_m3wgVGRfdSId
https://dl.doubtnut.com/l/_jpXnCx7nzI2w

14. Helium is an unreactive gas and neon is a
gas of extremely low reactivity. What, if

anything, do their atoms have in common?

o Watch Video Solution

15. In the Modern Periodic Table, which are the

metals among the first ten elements?

o Watch Video Solution



https://dl.doubtnut.com/l/_OslyQ00dGjmC
https://dl.doubtnut.com/l/_hAvfAcCYR4RL

16. By considering their position in the
Periodic Table, which one of the following
elements would you expect to have maximum
metallic characteristic?

Ga Ge As Se Be

o Watch Video Solution

Ncert Corner Exercise Questions


https://dl.doubtnut.com/l/_NiONmrf8VzdA

1. Which of the following statements is not a

correct statement about the trends when

going from left to right across the periods of

periodic Table.

A. The elements become less metallic in

nature.

B.The number of valence electrons

Increases.

C.The atoms lose their electrons more

easily.


https://dl.doubtnut.com/l/_hglv5jk0E7Px

D. The oxides become more acidic.

Answer: C

° Watch Video Solution

2. Element X forms a chloride with the formula
XCls, which is a solid with a high melting
point. X would most likely be in the same

group of the Periodic Table as

A. Na


https://dl.doubtnut.com/l/_hglv5jk0E7Px
https://dl.doubtnut.com/l/_ds044ptzgMGI

B. Mg

C. Al

D. Si

Answer: B

o Watch Video Solution

3. Which element has
two shells, both of which are completely filled

with electrons?

I o Watch Video Solution


https://dl.doubtnut.com/l/_ds044ptzgMGI
https://dl.doubtnut.com/l/_ybortTHWpm3l

4. Which element has

the electronic configuration 2, 8, 2

o Watch Video Solution

5. a total of three shells, with two electrons in

its valence shell?

o Watch Video Solution



https://dl.doubtnut.com/l/_ybortTHWpm3l
https://dl.doubtnut.com/l/_sZZwRSbENIa3
https://dl.doubtnut.com/l/_M1REdn4aTTmg

6. Which element has
a total of two shells, with three electrons in its

valence shell?

o Watch Video Solution

7. twice as many electrons in its second shell

as in its first shell?

o Watch Video Solution



https://dl.doubtnut.com/l/_TVUaIxkDVLK3
https://dl.doubtnut.com/l/_XfbmRRhkxEna

8. What property do all elements in the same
column of the periodic table as boron in

common?

o Watch Video Solution

9. What property do all the elements in the
same group of the periodic table as fluorine

have in common?

o Watch Video Solution



https://dl.doubtnut.com/l/_ayjwJFm12x1V
https://dl.doubtnut.com/l/_DN4gzDuX9E9O
https://dl.doubtnut.com/l/_jYxsYPU31qJE

10. An atom has electronic configuration 2, 8, 7.

What is the atomic number of this element?

° Watch Video Solution

11. An atom has electronic configuration 2, 8, 7.
To which of the following elements would it be
chemically similar? (Atomic numbers are given

in parentheses.) N(7) F(9) P(15) Ar(18)

o Watch Video Solution



https://dl.doubtnut.com/l/_jYxsYPU31qJE
https://dl.doubtnut.com/l/_wDXGkkXZAjxA
https://dl.doubtnut.com/l/_ztrdfAJ1ohri

12. The positions of three elements A, B and C

in the periodic table are shown below:

Group 16 Group 17

— A

B C

State whether A is metal or non-metal.

o Watch Video Solution

13. The positions of three elements A, B and C

in the periodic table are shown below:


https://dl.doubtnut.com/l/_ztrdfAJ1ohri
https://dl.doubtnut.com/l/_xwwmsWI9MMWI

Group 16 Group 17

— A

B C

State whether C is more reactive or less

reactive than A.

o Watch Video Solution

14. The position of three elements A, B and C

in the Periodic table are shown below :


https://dl.doubtnut.com/l/_xwwmsWI9MMWI
https://dl.doubtnut.com/l/_ly8xJ7XYwhrI

Will C be larger or smaller in size than B?

° Watch Video Solution

15. The position of three elements A, B and Cin

the Periodic table are shown below :

Gewp 3¢ T
A
’ ¢

Which type of ion, cation or anion, will be

formed by element A?


https://dl.doubtnut.com/l/_ly8xJ7XYwhrI
https://dl.doubtnut.com/l/_PvcXXBEwTKC9

° Watch Video Solution

16. Nitrogen (atomic number 7) and
phosphorus (atomic number 15) belong to
group 15 of the Periodic Table. Write the
electronic configuration of these two
elements. Which of these will be more

electronegative? Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_PvcXXBEwTKC9
https://dl.doubtnut.com/l/_BhcGzlOjjdFA

17. How does the electronic configuration of an
atom relate to its position in the Modern

Periodic Table?

o Watch Video Solution

18. In the Modern Periodic Table, calcium
(atomic number 20) is surrounded by
elements with atomic numbers 12, 19, 21 and
38. Which of these have physical and chemical

properties resembling calcium?

| & I


https://dl.doubtnut.com/l/_qxye5bDKk9oE
https://dl.doubtnut.com/l/_szZVsSIMABTI

| ¥ Watch Video Solution |

19. Compare and contrast the arrangement of
elements in Mendeléev’s Periodic Table and

the Modern Periodic Table.

o Watch Video Solution

Ncert Exemplar Multiple Choice Questions

1. Upto which element, the law of octaves was

found to be applicable ?


https://dl.doubtnut.com/l/_szZVsSIMABTI
https://dl.doubtnut.com/l/_SfMLXXrOHUrB
https://dl.doubtnut.com/l/_6TyWW5GbPA6a

A. Oxygen

B. Calcium

C. Cobalt

D. Potassium

Answer: B

o Watch Video Solution

2. According to Mendeleev' periodic law, the
elements were arranged in the periodic table

in the order of


https://dl.doubtnut.com/l/_6TyWW5GbPA6a
https://dl.doubtnut.com/l/_A1hGP5hsRHdA

A. increasing atomic number

B. decreasing atomic number

C.increasing atomic masses

D. decreasing atomic masses

Answer: C

o Watch Video Solution

3.In MendeleevV's periodic table, gaps were left

for the elements to be discovered later. Which


https://dl.doubtnut.com/l/_A1hGP5hsRHdA
https://dl.doubtnut.com/l/_OHZuRQwZJuE1

of the following elements found a place in the

periodic table later ?

A. Germanium

B. Chlorine

C. Oxygen

D. Silicon

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_OHZuRQwZJuE1

4. Which of the following statements (s) about
the modern periodic table are incorrect ?

(i) The elements in the modern periodic table
are arranged on the basis of their decreasing
atomic numbers

(i) The elements in the modern periodic table
are arranged on the basiss of their increasing
atomic mases.

(iii) Isotopes are placed in adjoining group(s)
in the periodic table

(iv) The elements in the modern periodic table


https://dl.doubtnut.com/l/_ZHpqPJ8hABfP

are arranged on the basis of their increasing

atomic number.

A. (i) only

B. (i), {ii) and (iii)

C. (ii) and (iv)

D. (iv) only

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZHpqPJ8hABfP

5. Which of the following statements about

the Modern Periodic Table is Correct?

A. It has 18 horizontal rows known as

Periods

B.It has 7 vertical columns known as

Periods

C.It has 18 vertical columns known as

Groups


https://dl.doubtnut.com/l/_3Eguf9AJjCf8

D.It has 7 horizontal rows known as

Groups.

Answer: C

o Watch Video Solution

6. Which of the given elements AB,C,D and E
with atomic number 23,710 and 30

respectively belong to the same period ?

A AB,C


https://dl.doubtnut.com/l/_3Eguf9AJjCf8
https://dl.doubtnut.com/l/_S28mwq0g7I8G

B.B,C,D

C.A/DE

D.B,D, E

Answer: B

o Watch Video Solution

7. The elements A, B, C, D and E have atomic
number 9, 11, 17, 12 and 13 respectively. Which

pair of elements belongs to the same group ?


https://dl.doubtnut.com/l/_S28mwq0g7I8G
https://dl.doubtnut.com/l/_TOFpnTZW1kzK

A.A and B

B.Band D

C.Aand C

D.DandE

Answer: C

o Watch Video Solution

8. Where would you locate the element with
electronic configuration 2, 8 in the Modern

Periodic Table?


https://dl.doubtnut.com/l/_TOFpnTZW1kzK
https://dl.doubtnut.com/l/_ooldSNqPicRw

A. Group 8

B. Group 2

C. Group 18

D. Group 10

Answer: C

o Watch Video Solution

9. An element which is an essential constituent

of all organic compounds belongs to:


https://dl.doubtnut.com/l/_ooldSNqPicRw
https://dl.doubtnut.com/l/_5ipbGvydqneF

A.group 1

B. group 14

C.group 15

D. group 16

Answer: B

o Watch Video Solution

10. Which of the following is the outermost

shell for elements of period 2 ?


https://dl.doubtnut.com/l/_5ipbGvydqneF
https://dl.doubtnut.com/l/_52KYKByOlE7H

A. K shell

B. L shell

C. M shell

D. N shell

Answer: B

o Watch Video Solution

1. Which one of the following elements
exhibit maximum number of valence

electrons?


https://dl.doubtnut.com/l/_52KYKByOlE7H
https://dl.doubtnut.com/l/_fMD7DVxxoCpS

A. Na

B. Al

C.Si

D.P

Answer: D

° Watch Video Solution

12. Which of the following gives the correct
increasing order of the atomic radii of O,F and

N ?


https://dl.doubtnut.com/l/_fMD7DVxxoCpS
https://dl.doubtnut.com/l/_JX6Yv8ChJNgt

A.O,F,N

B.N,F, O

C.O,N,F

D.F,O,N

Answer: D

° Watch Video Solution

13. Which among the following elements has

the largest atomic radii ?


https://dl.doubtnut.com/l/_JX6Yv8ChJNgt
https://dl.doubtnut.com/l/_MdgcikSCdgO9

A. Na

B. Mg

C.K

D. Ca

Answer: C

o Watch Video Solution

14. Which of the following elements would

lose an electron easily ?


https://dl.doubtnut.com/l/_MdgcikSCdgO9
https://dl.doubtnut.com/l/_B8krIZ8oAKU2

A. Mg

B. Na

C.K

D. Ca

Answer: C

o Watch Video Solution

15. Which of the following elements does not

lose an electron easily ?


https://dl.doubtnut.com/l/_B8krIZ8oAKU2
https://dl.doubtnut.com/l/_FddBWZGqcPaW

A. Na

B.F

C. Mg

D. Al

Answer: B

o Watch Video Solution

16. Which of the following are the
characteristics of isotopes of an element?

(i) Isotopes of an element have same atomic


https://dl.doubtnut.com/l/_FddBWZGqcPaW
https://dl.doubtnut.com/l/_WQBH0GbW7dFz

masses.
(i) Isotopes of an element have same atomic
number.

(i) Isotopes of an element show same
physical properties.

(iv) Isotopes of an element show same

chemical properties.

A. (i), (iii) and (iv)

B. (ii), (iii) and (iv)

C. (i1) and (iii)

D. (ii) and (iv)


https://dl.doubtnut.com/l/_WQBH0GbW7dFz

Answer: D

o Watch Video Solution

17. Arrange the following elements in the

order of their decreasing metallic charcter Na,

Si, Cl, Mg, Al.

A.Cl > Si > Al > Mg > Na

B.Na > Mg > Al > §i > Cl

C.Na > Al > Mg > Cl > Si

D. Al > Na > St > Cl > Mg


https://dl.doubtnut.com/l/_WQBH0GbW7dFz
https://dl.doubtnut.com/l/_6vbHB6JJbMJN

Answer: B

o Watch Video Solution

18. Arrange the following elements in the

order of their increasing non-metallic

character Li, O, C, Be, F

AF<O<(C<Be< Li

B.Li < Be<(C<O<UF

CF<O<(C<xBe<lLi

D.F <O < Be<(C< Lz


https://dl.doubtnut.com/l/_6vbHB6JJbMJN
https://dl.doubtnut.com/l/_VDbZfwG0r48u

Answer: B

o Watch Video Solution

19. What type of oxide would Eka- aluminium

form?

A. EO;

B. 5,0,

C. E,0;

D. EO


https://dl.doubtnut.com/l/_VDbZfwG0r48u
https://dl.doubtnut.com/l/_2aYTdHWXGYis

Answer: C

o Watch Video Solution

20. Three elements B, Si and Ge are

A. metals

B. non-metals

C. metalloids

D. metal, non-metal and metalloid

respectively


https://dl.doubtnut.com/l/_2aYTdHWXGYis
https://dl.doubtnut.com/l/_crrzzVPJzHy5

Answer: C

o Watch Video Solution

21. Which of the following elements will form

an acidic oxide ?

A. An element with atomic number 7

B. An element with atomic number 3

C. An element with atomic number 12

D. An element with atomic number 19


https://dl.doubtnut.com/l/_crrzzVPJzHy5
https://dl.doubtnut.com/l/_i3f7BUKMeqXB

Answer: A

o Watch Video Solution

22.The element with atomic number 14 is hard

and forms acidic oxide and a covalent halide.

To which of the following categories does the

element belong?

A. Metal

B. Metalloid

C. Non-metal


https://dl.doubtnut.com/l/_i3f7BUKMeqXB
https://dl.doubtnut.com/l/_0ixDPKXoe1uG

D. Left-hand side element

Answer: B

o Watch Video Solution

23. Which one of the following depict the

correct representation of atomic radius(r) of


https://dl.doubtnut.com/l/_0ixDPKXoe1uG
https://dl.doubtnut.com/l/_f5i7DQ8Koigc

an atom?

A. (i) and (ii)

B. (ii) and (iii)

C. (iii) and (iv)

D. (i) and (iv)


https://dl.doubtnut.com/l/_f5i7DQ8Koigc

Answer: B

o Watch Video Solution

24. Which one of the following does not

increase while moving down the group of the

periodic table ?

A. Atomic radius

B. Metallic character

C. Valence

D. Number of shells in an element


https://dl.doubtnut.com/l/_f5i7DQ8Koigc
https://dl.doubtnut.com/l/_5Wl5qTPpU4wH

Answer: C

o Watch Video Solution

25.0On moving from left to right in a period in

the periodic table, the size of the atom.

A. increases

B. decreases

C. does not change appreciably

D. first decreases and then increases


https://dl.doubtnut.com/l/_5Wl5qTPpU4wH
https://dl.doubtnut.com/l/_kBNoI9pjl5AU

Answer: B

o Watch Video Solution

26. Which of the following set of elements is

written in order of their increasing metallic

character ?

A. Be, Mg, Ca

B. Na, Li, K

C. Mg, Al, Si

D.C,O, N


https://dl.doubtnut.com/l/_kBNoI9pjl5AU
https://dl.doubtnut.com/l/_OoSZ3qhiqice

Answer: A

o Watch Video Solution

Ncert Exemplar Short Answer Questions

1. The three elements A, B and C with similar
properties have atomic masses X, Y and Z
respectively. This mass of Y is approximately
equal to the average mass of X and Z. What is
such an arrangement of elements called as ?

Give on example of such a set of elements.


https://dl.doubtnut.com/l/_OoSZ3qhiqice
https://dl.doubtnut.com/l/_qPZJsxM2sURf

° Watch Video Solution

2. Elements have been arranged in the
following sequence on the basis of their
increasing atomic masses.

F, Na, Mg, Al, Si, P, S, Cl, Ar, K

Pick two sets of elements which have similar

properties.

o Watch Video Solution



https://dl.doubtnut.com/l/_qPZJsxM2sURf
https://dl.doubtnut.com/l/_lJ2lkfKiV1ns

3. Elements have been arranged in the
following sequence on the basis of their
increasing atomic masses.
F, Na, Mg, Al, Si, P, S, ClI, Ar, K
The given sequence represents which law of

classification of elements?

o Watch Video Solution

4. Can the following groups of elements be

classified as Dobereiner' s triad ?


https://dl.doubtnut.com/l/_EprgTP1PrtjU
https://dl.doubtnut.com/l/_2Od3wn4etj0A

Na, Si, Cl

o Watch Video Solution

5. Can the following groups of elements be
classified as Dobereiner' s triad ?

Be, Mg, Ca

Atomic mass of Be 9, Na 23, Mg 24, Si 28, Cl 35,

Ca 40. Explain by giving reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_2Od3wn4etj0A
https://dl.doubtnut.com/l/_eSc3hAnW0uEF

6. In Mendeleev's periodic table, the elements
were arranged in the increasing order of their
atomic masses. However, cobalt with atomic
mass of 58.93 amu was placed before nickel
having an atomic mass of 58.71 amu. Give

reason for the same.

o Watch Video Solution

7. Hydrogen occupies a unique position in

modern periodic table. Justify the statement.

| & |


https://dl.doubtnut.com/l/_3nZFCWSCSQ3c
https://dl.doubtnut.com/l/_v64KOt8mNW8R

| ¥ Watch Video Solution |

8. Write the formulae of chlorides of Eka-
Silicon and Eka-aluminium, the elements

predicted by Mendeleev.

o Watch Video Solution

9. Three elements A, B and C have 3,4 and 2
electrons respectively in their outermost shell.

Give the group number to which they belong


https://dl.doubtnut.com/l/_v64KOt8mNW8R
https://dl.doubtnut.com/l/_eKIuIbdXKgXX
https://dl.doubtnut.com/l/_EDbLIpnYdAOz

in the modern periodic table. Also, give their

valencies.

° Watch Video Solution

10. If an element X is placed in group 14, what
will be the formula and the nature of bonding

of its chloride ?

° Watch Video Solution



https://dl.doubtnut.com/l/_EDbLIpnYdAOz
https://dl.doubtnut.com/l/_xf8rf7N7Kseo

11. Compare the radii of two species X and Y.
Give reasons for your answer.
(@) X has 12 protons and 12 electrons

(b) Y has 12 protons and 10 electrons.

° Watch Video Solution

12. Arrange the following elements in
increasing order of their atomic radii.

Li, Be, F, N

° Watch Video Solution



https://dl.doubtnut.com/l/_vUNAa6JYfdI0
https://dl.doubtnut.com/l/_LwwAW9Qw88vP

13. Arrange the following elements in
increasing order of their atomic radii.

Cl, At, Br |

° Watch Video Solution

14. Identify and name the metals whose
electronic configuration is given below :

2,8, 2

° Watch Video Solution



https://dl.doubtnut.com/l/_LwwAW9Qw88vP
https://dl.doubtnut.com/l/_I0sm9Fzkj6Dw
https://dl.doubtnut.com/l/_rqrlIYpxYhQt

15. Identify and name the metal whose

electronic configuration are given below :

2,8, 1

o Watch Video Solution

16. Identify and name the element whose

electronic configuration are given below :

2,8, 7

o Watch Video Solution



https://dl.doubtnut.com/l/_PO5KgUIeNrKk
https://dl.doubtnut.com/l/_UUWTfjB3yoSo
https://dl.doubtnut.com/l/_sC46b1SoCIAI

17. Identify and name the metal whose

electronic configuration is given below :

2,1

o Watch Video Solution

18. Write the formula of the product formed
when the element A (atomic number 19)
combines with the element B (atomic nhumber
17) Draw its electronic dot structure. What is

the nature of the bond formed ?

o Watch Video Solution



https://dl.doubtnut.com/l/_sC46b1SoCIAI
https://dl.doubtnut.com/l/_I5pJDWl2iUOx

19. Arrange the following elements in the
increasing order of their metallic character

Mg, Ca, K, Ge, Ga.

o Watch Video Solution

20. Identify, the elements with the following
property .

An element which is a soft and reactive metal.

o Watch Video Solution



https://dl.doubtnut.com/l/_I5pJDWl2iUOx
https://dl.doubtnut.com/l/_pgdXfiSMv1sb
https://dl.doubtnut.com/l/_lPjxBVFln8IM

21. Identify, the elements with the following
property
The metal which is an important constituent

of limestone.

o Watch Video Solution

22. Identify, the elements with the following
property
The metal which exists in liquid state at room

temperature.


https://dl.doubtnut.com/l/_lPjxBVFln8IM
https://dl.doubtnut.com/l/_QR45D3uqOL4p
https://dl.doubtnut.com/l/_W9l9jtBllrmN

° Watch Video Solution

23. Properties of the elements are given below.
Where would you locate the following
elements in the periodic table?

A soft metal stored under kerosene

o Watch Video Solution

24. Properties of the elements are given below.

Where would you locate the following


https://dl.doubtnut.com/l/_W9l9jtBllrmN
https://dl.doubtnut.com/l/_6Ag6uwi4Nlxt
https://dl.doubtnut.com/l/_lDabJrSCmqx0

elements in the periodic table?
An element with variable (more than one)

valency stored under water.

° Watch Video Solution

25, Properties of the elements are given below.
Where would you locate the following
elements in the periodic table?

An element which is tetravelent and forms the

basis of organic chemistry

° Watch Video Solution



https://dl.doubtnut.com/l/_lDabJrSCmqx0
https://dl.doubtnut.com/l/_BgSoLz5ATpsw

26. Properties of the elements are given below.
Where would you locate the following
elements in the periodic table?

An element which is an inert gas with atomic

number 2.

o Watch Video Solution

27. Properties of the elements are given below.
Where would you locate the following

elements in the periodic table?


https://dl.doubtnut.com/l/_BgSoLz5ATpsw
https://dl.doubtnut.com/l/_LyJY5JJXXKFK
https://dl.doubtnut.com/l/_0xVr7JIgAZXJ

An element whose thin oxide layer is used to
make other elements corrosion resistant by

the process of "anodising".

o Watch Video Solution

Ncert Exemplar Long Answer Questions

1. An element is placed in 2nd Group and 3rd
Period of the Periodic Table, burns in presence
of oxygen to form a basic oxide.

|dentify the element.



https://dl.doubtnut.com/l/_0xVr7JIgAZXJ
https://dl.doubtnut.com/l/_uvgnQlqF5tfI

o Watch Video Solution

2. An element is placed in 2nd Group and 3rd
Period of the Periodic Table, burns in presence
of oxygen to form a basic oxide.

Write the electronic configuration.

o Watch Video Solution

3. An element is placed in 2nd Group and 3rd
Period of the Periodic Table, burns in presence

of oxygen to form a basic oxide.


https://dl.doubtnut.com/l/_uvgnQlqF5tfI
https://dl.doubtnut.com/l/_GCv0p6xjesyW
https://dl.doubtnut.com/l/_L0w6xh2bDJ7G

Write the balanced equation when it burns in

the presence of air.

° Watch Video Solution

4. An element is placed in 2nd Group and 3rd
Period of the Periodic Table, burns in presence
of oxygen to form a basic oxide.

Write a balanced equation when this oxide is

dissolved in water.

° Watch Video Solution



https://dl.doubtnut.com/l/_L0w6xh2bDJ7G
https://dl.doubtnut.com/l/_bOBPyJcux1AI
https://dl.doubtnut.com/l/_xlNq6gg7Bgbc

5. An element is placed in 2nd Group and 3rd
Period of the Periodic Table, burns in presence
of oxygen to form a basic oxide.

Draw the electron dot structure for the

formation of this oxide.

° Watch Video Solution

6. An element X (atomic number 17) reacts
with an element Y (atomic number 20) to form

a divalent halide.


https://dl.doubtnut.com/l/_xlNq6gg7Bgbc
https://dl.doubtnut.com/l/_Pi5vDKZmHE5g

Where in the periodic table are elements X

and Y placed?

° Watch Video Solution

7. An element X (atomic number 17) reacts with
an element Y (atomic number 20) to form a
divalent halide.

Classify X and Y as metal (s), non-metal (s) or

metalloid (s).

° Watch Video Solution



https://dl.doubtnut.com/l/_Pi5vDKZmHE5g
https://dl.doubtnut.com/l/_iPfrNb384TFY
https://dl.doubtnut.com/l/_00og36bljnge

8. An element X (atomic number 17) reacts
with an element Y (atomic number 20) to form
a divalent halide.

What will be the nature of oxide of element Y?
Identify the nature of bonding in the

compound formed.

o Watch Video Solution

9. An element X (atomic number 17) reacts
with an element Y (atomic number 20) to form

a divalent halide.


https://dl.doubtnut.com/l/_00og36bljnge
https://dl.doubtnut.com/l/_4Jz2mLlaqGPm

Draw the electron dot structure of the

divalent halide.

° Watch Video Solution

10. Atomic number of a few elements are given
below 10, 20, 7, 14

Identify the elements.

° Watch Video Solution



https://dl.doubtnut.com/l/_4Jz2mLlaqGPm
https://dl.doubtnut.com/l/_pOcSF8bsb0X8

11. Atomic number of a few elements are given
below 10, 20, 7, 14
Identify the Group number of these elements

in the Periodic Table.

o Watch Video Solution

12. Atomic number of a few elements are given
below 10, 20, 7, 14
Identify the Periods of these elements in the

Periodic Table.

| & I


https://dl.doubtnut.com/l/_27lk5txUvXpn
https://dl.doubtnut.com/l/_yrU83eKxz1iR

| ¥ Watch Video Solution |

13. Atomic number of a few elements are given
below 10, 20, 7, 14
What would be the electronic configuration

for each of these elements?

o Watch Video Solution

14. Atomic number of a few elements are given
below 10, 20, 7, 14

Determine the valency of these elements.


https://dl.doubtnut.com/l/_yrU83eKxz1iR
https://dl.doubtnut.com/l/_AQd3BUWISCvX
https://dl.doubtnut.com/l/_6033fuRTtA2N

o Watch Video Solution

15. Complete the following crossword puzzle
(Figure)

Across

(1) An element with atomic number 12

(3) Metal used in making cans and member of
group 14

(4) A lustrous non-metal which has 7 electrons
in its outermost shell

Down

(2) Highly reactive and soft metal which


https://dl.doubtnut.com/l/_6033fuRTtA2N
https://dl.doubtnut.com/l/_UzaNxdNkPwJr

imparts yellow colour when subjected to flame
and is kept in kerosene

(5) The first element of second period

(6) An element whihc is used in making
flurescent bulbs and is second member of
group 18 in the modern periodic table

(7) A radioactive element which is the last
member of halogen family

(8) Metal which is an important constituent of
steel and forms rust when exposed to moist
air

(9) The first metalloid in modern periodic table

whose fibres are used in making bullet-proof


https://dl.doubtnut.com/l/_UzaNxdNkPwJr

vests

° Watch Video Solution

16. In this ladder (Given figure) symbols of
elements are jumbled up. Rearrange these

symbols of elements in the increasing order of


https://dl.doubtnut.com/l/_UzaNxdNkPwJr
https://dl.doubtnut.com/l/_clWMYT1EazVI

their atomic number in the Periodic Table.

° Watch Video Solution

17. Arrange them in the order of their group

also.

&2

° View Text Solution



https://dl.doubtnut.com/l/_clWMYT1EazVI
https://dl.doubtnut.com/l/_Q1jnDtJSbdwc

18. Mendeleev's predicted the existence of
certain elements not known at that time and
named two of them as Eka-silicon and Eka-
aluminium.

Name the elements which have taken the

place of these elements.

o Watch Video Solution

19. Mendeleev's predicted the existence of

certain elements not known at that time and


https://dl.doubtnut.com/l/_0fzATeEMsj4V
https://dl.doubtnut.com/l/_LmBTZY5ugz5u

named two of them as Eka-silicon and Eka-
aluminium.
Mention the group and the period of these

elements in the Modem Periodic Table.

° Watch Video Solution

20. Mendeleev's predicted the existence of
certain elements not known at that time and
named two of them as Eka-silicon and Eka-

aluminium.


https://dl.doubtnut.com/l/_LmBTZY5ugz5u
https://dl.doubtnut.com/l/_HKMs9NE0hlcz

Classify these elements as metals, non-metals

or metalloids.

° Watch Video Solution

21. Mendeleev's predicted the existence of
certain elements not known at that time and
named two of them as Eka-silicon and Eka-
aluminium.

How many valence electrons are present in

each one of them?

o Watch Video Solution



https://dl.doubtnut.com/l/_HKMs9NE0hlcz
https://dl.doubtnut.com/l/_4HTKunneCSMJ

22. (a) Electropositive nature of the element(s)
increases down the group and decreases
across the period.

(b) Electronegativity of the element decreases
down the group and increases across the
period.

(c) Atomic size increases down the group and
decreases across a period (left to right).

(d) Metallic character increases down the
group and decreases across a period.

On the basis of the above trends of the


https://dl.doubtnut.com/l/_4HTKunneCSMJ
https://dl.doubtnut.com/l/_7cFAaJXTMwso

Periodic Table, answer the following about the
elements with atomic numbers 3 to 9.
Name the most electropositive element

among them.

o Watch Video Solution

23. (a) Electropositive nature of the element(s)
increases down the group and decreases
across the period.

(b) Electronegativity of the element decreases

down the group and increases across the


https://dl.doubtnut.com/l/_7cFAaJXTMwso
https://dl.doubtnut.com/l/_XMnC3ODuNyJD

period.

(c) Atomic size increases down the group and
decreases across a period (left to right).

(d) Metallic character increases down the
group and decreases across a period.

On the basis of the above trends of the
Periodic Table, answer the following about the
elements with atomic numbers 3 to 9.

Name the most electronegative element.

o Watch Video Solution



https://dl.doubtnut.com/l/_XMnC3ODuNyJD

24. (a) Electropositive nature of the element(s)
increases down the group and decreases
across the period.

(b) Electronegativity of the element decreases
down the group and increases across the
period.

(c) Atomic size increases down the group and
decreases across a period (left to right).

(d) Metallic character increases down the
group and decreases across a period.

On the basis of the above trends of the

Periodic Table, answer the following about the


https://dl.doubtnut.com/l/_yl7Vln19JgfE

elements with atomic numbers 3 to 9.

Name the element with smallest atomic size.

o Watch Video Solution

25. (a) Electropositive nature of the element(s)
increases down the group and decreases
across the period.

(b) Electronegativity of the element decreases
down the group and increases across the
period.

(c) Atomic size increases down the group and


https://dl.doubtnut.com/l/_yl7Vln19JgfE
https://dl.doubtnut.com/l/_02J4yWKLjCmG

decreases across a period (left to right).

(d) Metallic character increases down the
group and decreases across a period.

On the basis of the above trends of the
Periodic Table, answer the following about the
elements with atomic numbers 3 to 9.

Name the element which is a metalloid.

o Watch Video Solution

26. (a) Electropositive nature of the element(s)

increases down the group and decreases


https://dl.doubtnut.com/l/_02J4yWKLjCmG
https://dl.doubtnut.com/l/_yVz8CGo21DhS

across the period.

(b) Electronegativity of the element decreases
down the group and increases across the
period.

(c) Atomic size increases down the group and
decreases across a period (left to right).

(d) Metallic character increases down the
group and decreases across a period.

On the basis of the above trends of the
Periodic Table, answer the following about the
elements with atomic numbers 3 to 9.

Name the element which shows maximum

valency.


https://dl.doubtnut.com/l/_yVz8CGo21DhS

° Watch Video Solution

27. An element X which is a yellow solid at
room temperature shows catenation and
allotropy. X forms two oxides which are also
formed during the thermal decomposition of
ferrous sulphate crystals and are the major air
pollutants.

Identify the element X.

° Watch Video Solution



https://dl.doubtnut.com/l/_yVz8CGo21DhS
https://dl.doubtnut.com/l/_oXrEsxFDjNt4
https://dl.doubtnut.com/l/_uNVg06jqXmUT

28. An element X which is a yellow solid at
room temperature shows catenation and
allotropy. X forms two oxides which are also
formed during the thermal decomposition of
ferrous sulphate crystals and are the major air
pollutants.

Write the electronic configuration of X.

° Watch Video Solution

29. An element X which is a yellow solid at

room temperature shows catenation and


https://dl.doubtnut.com/l/_uNVg06jqXmUT
https://dl.doubtnut.com/l/_an8FNzDmNIkb

allotropy. X forms two oxides which are also
formed during the thermal decomposition of
ferrous sulphate crystals and are the major air
pollutants.

Write the balanced chemical equation for the
thermal decomposition of ferrous sulphate

crystals?

o Watch Video Solution

30. An element X which is a yellow solid at

room temperature shows catenation and


https://dl.doubtnut.com/l/_an8FNzDmNIkb
https://dl.doubtnut.com/l/_snTvgxktjiRE

allotropy. X forms two oxides which are also
formed during the thermal decomposition of
ferrous sulphate crystals and are the major air
pollutants.

What would be the nature (acidic/ basic) of

oxides formed?

° Watch Video Solution

31. An element X which is a yellow solid at
room temperature shows catenation and

allotropy. X forms two oxides which are also


https://dl.doubtnut.com/l/_snTvgxktjiRE
https://dl.doubtnut.com/l/_1VIHK0vzczeY

formed during the thermal decomposition of
ferrous sulphate crystals and are the major air
pollutants.

Locate the position of the element in the

Modern Periodic Table

o Watch Video Solution

32. An element X of group 15 exists as diatomic
molecule and combines with hydrogen at 773
K in presence of the catalyst to form a

compound, ammonia  which has a


https://dl.doubtnut.com/l/_1VIHK0vzczeY
https://dl.doubtnut.com/l/_omhzUcHjb2uW

characteristic pungent smell.
Identify the element X. How many valence

electrons does it have?

o Watch Video Solution

33. An element X of group 15 exists as diatomic
molecule and combines with hydrogen at 773
K in presence of the catalyst to form a
compound, ammonia  which has a
characteristic pungent smell.

Draw the electron dot structure of the


https://dl.doubtnut.com/l/_omhzUcHjb2uW
https://dl.doubtnut.com/l/_04yahYTrnDM0

diatomic molecule of X. What type of bond is

formed in it?

° Watch Video Solution

34. An element X of group 15 exists as
diatomic molecule and combines with
hydrogen at 773 K in presence of the catalyst
to form a compound, ammonia which has a
characteristic pungent smell.

Draw the electron dot structure for ammonia

and what type of bond is formed in it?

| |


https://dl.doubtnut.com/l/_04yahYTrnDM0
https://dl.doubtnut.com/l/_b20RyaLQtSlc

& Wwatch Video Solution I

35. Which group of elements could be placed
in  mendeleev's periodic table without

disturbing the original order ? Give reason.

° Watch Video Solution

36. Give an account of the process adopted by
Mendeleev for the classification of elements.

How did he arrive at "periodic law" ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_b20RyaLQtSlc
https://dl.doubtnut.com/l/_ElZV1cplCacm
https://dl.doubtnut.com/l/_3jVAeDBBj6oq

Board Corner Short Answer Type Questions

1. Based on the group valency of elements
write the molecular formula of the following
compounds giving justification for each :

Oxide of first group elements.

o Watch Video Solution



https://dl.doubtnut.com/l/_3jVAeDBBj6oq
https://dl.doubtnut.com/l/_rUufy6nUTwD0

2. Based on the group valency of elements
write the molecular formula of the following
compounds giving justification for each :

Halide of the elements of group thirteen, and

o Watch Video Solution

3. Based on the group valency of elements
write the molecular formula of the following
compounds giving justification for each :

Compound formed when an element, A of


https://dl.doubtnut.com/l/_8zBxc2aaxSCK
https://dl.doubtnut.com/l/_UDwbH3NFazYj

group 2 combines with an element B of group

seventeen.

° Watch Video Solution

4. Write the names given to the vertical
columns and horizontal rows in the Modern
Periodic Table. How does the metallic charcter
of elements very on moving down a vertical
column ? How does the size of atomic radius

vary on moving left to right in a horizontal


https://dl.doubtnut.com/l/_UDwbH3NFazYj
https://dl.doubtnut.com/l/_j67AHlfTyaW4

row ? Give reason in pupport of your answer in

the above two cases.

° Watch Video Solution

5. An element P (atomic number 20) reacts
with an element Q (atomic number 17) to form
a compound.

Answer the following questions giving reason :
Write the position of P and Q in the Modern
Periodic Table and the molecular formula of

the compound formed when P reacts with Q.

| e |


https://dl.doubtnut.com/l/_j67AHlfTyaW4
https://dl.doubtnut.com/l/_Fd9uwW1o3b5u

& watch Video Solution I

6. Write the number of periods and groups in
the Modern Periodic Table. How does the
metallic character of elements vary on moving

from left to right in a period, and

o Watch Video Solution

7. Write the number of periods and groups in
the Modern Periodic Table. How does the

metallic character of elements vary on moving


https://dl.doubtnut.com/l/_Fd9uwW1o3b5u
https://dl.doubtnut.com/l/_S0MBM7biG3Al
https://dl.doubtnut.com/l/_U1GMqXRn2Vym

down a group ? Give reason to justify your

answer.

o Watch Video Solution

8. Na, Mg and Al are the elements of the 3rd
period of the Modern Periodic Table having
group number 1, 2 and 13 respectively. Which
one of these elements has the

highest valency,

Justify your answer stating the reason for

each.

| |


https://dl.doubtnut.com/l/_U1GMqXRn2Vym
https://dl.doubtnut.com/l/_KOklWgw8UD8Q

& Wwatch Video Solution I

9. Na, Mg and Al are the elements of the 3rd
period of the Modern Periodic Table having
group number 1, 2 and 13 respectively. Which
one of these elements has the

largest atomic radius,

Justify your answer stating the reason for

each.

O Watch Video Solution



https://dl.doubtnut.com/l/_KOklWgw8UD8Q
https://dl.doubtnut.com/l/_Kgcyo9wwH8tx

10. Na, Mg and Al are the elements of the 3rd
period of the Modern Periodic Table having
group number 1, 2 and 13 respectively. Which
one of these elements has the

maximum chemical reactivity ?

o Watch Video Solution

1. What is periodicity in properties of
elements with reference to the Modern

Periodic Table ? Why do all the elements of the


https://dl.doubtnut.com/l/_Cvjjj0dvtrt5
https://dl.doubtnut.com/l/_yti2js4gZ9Er

same group have similar properties? How does
the tendency of elements to gain electrons
change as we move from left to right in a

period ? State the reason of this change.

° Watch Video Solution

12. Write the electronic configuration of two
elements X and Y whose atomic numbers are
20 and 17 respectively.

Write the molecular formula of the compound

formed when element X reacts with element Y.


https://dl.doubtnut.com/l/_yti2js4gZ9Er
https://dl.doubtnut.com/l/_SuveDRS4lit5

Draw electron-dot structure of the product
and also state the nature of the bond formed

between both the elements.

o Watch Video Solution

Board Corner Long Answer Type Questions

1. List any three observations which posed a

challenge to Mendeleev's Periodic Law.

° Watch Video Solution



https://dl.doubtnut.com/l/_SuveDRS4lit5
https://dl.doubtnut.com/l/_hOpl9aN4mbyz
https://dl.doubtnut.com/l/_GvsCGs6Ep0Tk

2. How does the metallic character of elements
change on going from left to right in a period

of the periodic table ?

° Watch Video Solution

3. How does the metallic character of elements
vary on moving from
from top to bottom in a period of the Modern

Periodic Table ? Give reason for your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_GvsCGs6Ep0Tk
https://dl.doubtnut.com/l/_UG3kRDOrDfH6

4.The electrons in the atoms of four elements
A, B, C and D are distributed in three shells
having 1, 3, 5 and 7 electrons respectively in
their outermost shells. Write the group
numbers in which these elements are placed
in the Modern Periodic Table. Write the
electronic configuration of the atoms of B and
D and the molecular formula of the compound

formed when B and D combine.

° Watch Video Solution



https://dl.doubtnut.com/l/_UG3kRDOrDfH6
https://dl.doubtnut.com/l/_w5188nDjXYss
https://dl.doubtnut.com/l/_i7T836gKSrTH

5. The modern periodic table has been evolved
through the early attempts of Dobereiner,
Newland and Mendeleev. List one advantage

and one limitation of all the three attempts.

o Watch Video Solution

6. Name the scientist who first of all showed
that atomic number of an element is a more

fundamental property than its atomic mass.

o Watch Video Solution



https://dl.doubtnut.com/l/_i7T836gKSrTH
https://dl.doubtnut.com/l/_rl12ZR00Fuis

7.State Modern periodic law.

o Watch Video Solution

Multiple Choice Questions

1. The Law of Octaves was applicable upto

which element in the Periodic table:

A. Oxygen

B. Calcium


https://dl.doubtnut.com/l/_FQDVnH2DsJrG
https://dl.doubtnut.com/l/_chSALijyOFen

C. Cobalt

D. Potassium

Answer: B

o View Text Solution

2. According to Mendeleev's Periodic Law, the
elements were arranged in the periodic table

in the order of:

A. Increasing atomic number


https://dl.doubtnut.com/l/_chSALijyOFen
https://dl.doubtnut.com/l/_B2mYQd4t17vN

B. Decreasing atomic number

C. Increasing atomic masses

D. Decreasing atomic masses

Answer: C

o View Text Solution

3.In Mendeleev's periodic table, gaps were left
for the elements to be discovered later. Which
of the following elements found a place in the

perioidc table later.


https://dl.doubtnut.com/l/_B2mYQd4t17vN
https://dl.doubtnut.com/l/_gTfMs0CKnIrc

A. Germanium

B. Chlorine

C. Oxygen

D. Silicon

Answer: A

o View Text Solution

4. How many elements were arranged by

Mendeleev in his periodic table ?


https://dl.doubtnut.com/l/_gTfMs0CKnIrc
https://dl.doubtnut.com/l/_cCCiLpX655Iy

A. 98

B. 63

C.42

D. 21

Answer: B

o View Text Solution

5. What type of oxide would Eka - aluminium

form?


https://dl.doubtnut.com/l/_cCCiLpX655Iy
https://dl.doubtnut.com/l/_blmMa1sndHrz

A. EO;

B. B30,

C. E,O3

D.EO

Answer: C

o View Text Solution

6. Which element was not known when

Mendeleev proposed his classification ?


https://dl.doubtnut.com/l/_blmMa1sndHrz
https://dl.doubtnut.com/l/_RCa04Vd9228E

A. Hydrogen

B. Sodium

C. Calcium

D. Germanium

Answer: C

o View Text Solution

7. According to Mendeleev's Periodic Law, the
elements were arranged in the periodic table

in order of their:


https://dl.doubtnut.com/l/_RCa04Vd9228E
https://dl.doubtnut.com/l/_dgGG8L6Fa6Gy

A. increasing atomic number

B. decreasing atomic number

C.increasing atomic mass

D. decreasing atomic mass

Answer: C

o View Text Solution

8. Which of the following statements about

Newland' slaw of octaves is correct?


https://dl.doubtnut.com/l/_dgGG8L6Fa6Gy
https://dl.doubtnut.com/l/_5FVMAMn28CCN

A. It was applicable to all elements.

B.It was applicable to elements up to

calcium only.

C.Every first and seventh element had

similar properties.

D. Noble gases were discovered that time

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_5FVMAMn28CCN

9.In Mendeleev's periodic table, gaps were left
for the elements to be discovered later. Which
of the following elements found a place in the
periodic table later?

A. Chlorine

B. Silicon

C. Oxygen

D. Germanium

Answer: D

I ° \iawr TavE CAaliikian



https://dl.doubtnut.com/l/_O5dActoZpyVe
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10. The law of octaves was given by :

A. Mendeleev

B. Newlands

C. Bohr

D. Moseley

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_O5dActoZpyVe
https://dl.doubtnut.com/l/_irx1av0wEORu
https://dl.doubtnut.com/l/_uOmLsUgyS37o

11. The position of element in the periodic

table is generally determined by its:

A. no of valence electrons

B. no of shells

C. both (a) and (b)

D. none of the above

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_uOmLsUgyS37o

12. Vertical columns in a periodic table are

called:

A. rows

B. periods

C. groups

D. patters

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_5NcwuG1l4iXc
https://dl.doubtnut.com/l/_hfdM2cqbC7va

13. The -elements having seven valence

electrons in their outermost shell are known

as:

A. alkalis

B. halogens

C. alkaline earth metals

D. noble gases

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_hfdM2cqbC7va
https://dl.doubtnut.com/l/_jUxDnlfMMpAq

14. Non metals usually forms:

A. acidic oxides

B. basic oxides

C. neutral oxides

D. amphoteric oxides

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_jUxDnlfMMpAq

15. The number of shells in elements of the

third period is:

A. three

B. two

C. four

D. one

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_aypPvW9mH29g
https://dl.doubtnut.com/l/_ktj9rQOpObw7

16. Which of the following group has the

maximum radii in a group when considered in

the same period?

A. Halogens

B. Alkaline earth metals

C. Alkali metals

D. Noble gases

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_ktj9rQOpObw7
https://dl.doubtnut.com/l/_L1ZaGfwzwhxR

17. An element X has 4 shells and 3 valence

electrons. What is its period number?

A.3

B.5

C.6

D.4

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_L1ZaGfwzwhxR

18. The electronic configuration of an element

M is 2, 8, 4. In modern periodic table, the

element M must be placed in:

A. 4th group

B. 2nd group

C. 14th group

D. 18th group

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_SRRmKxdt2x9a

19. Which group elements are called transition

metals?

A. Group number 1to 2

B. Group number 13 to 18

C. Group number 3 to 12

D. Group number 1to 8

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_z4t7U6WKjEXw
https://dl.doubtnut.com/l/_DsLEp6gS8xlC

20. Elements of which group has only 2 shells

and both are completely filled?

A. Helium

B. Neon

C. Calcium

D. Boron

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_DsLEp6gS8xlC

21. The elements A, B and C belong to group 2,
14 and 16 respectively, of the periodic table.
Which two elements of these will form
covalent bonds?

A.Aand B

B.Band C

C.Cand A

D. None of these

Answer: B

‘ ° \iawr TavE CAaliikian



https://dl.doubtnut.com/l/_WLCkhi8SVnP4
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22. An element M is in group 13th of the

periodic table. The formula for its oxide is:

A. MO

B. M,O4

C. M302

D. None of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_WLCkhi8SVnP4
https://dl.doubtnut.com/l/_jfkF1BiHiVSI

23. Which of these belong to the same period?

&2

A.AB

B.B,C

C.CA

D.A,BandC

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_jfkF1BiHiVSI
https://dl.doubtnut.com/l/_gZGHur0vNDBN

24. Carbon belongs to the second period and
group 14 while silicon belongs to the third
period and group 14 of the periodic table. If
atomic number of carbon is 6, the atomic
number of silicon should be:

A7

B.14

C.24

D. 16

Answer: B


https://dl.doubtnut.com/l/_SRVg9QBA2UY1

° View Text Solution

25. Consider the following elements.

20Ca, 80 18Ar, 165, 4Be, 2He

Which of the above elements would you

expect to be in group 16 of the Periodic Table?

A. 20Ca and 165

B. 20Ca and 80

C. 18Ar and 16S

D. 80 and 16S


https://dl.doubtnut.com/l/_SRVg9QBA2UY1
https://dl.doubtnut.com/l/_s609V0qcYlYf

Answer: D

o View Text Solution

26. The atom of an element has electronic

configuration 2, 8, 7. To which of the following

elements would it be chemically similar?

A.N(7)

B. P(15)

C. Na(11)

D. F(9)


https://dl.doubtnut.com/l/_s609V0qcYlYf
https://dl.doubtnut.com/l/_MpCMUR6nycBq

Answer: D

o View Text Solution

27.How many groups are there in the periodic

table?

A.18

B.8

C. 28

D. 17


https://dl.doubtnut.com/l/_MpCMUR6nycBq
https://dl.doubtnut.com/l/_UhSenC22vtGX

Answer: A

o View Text Solution

28. Atomic mass number is equal to the:

A. total number of p and n

B. total number of p and e

C. number of Protons

D. number of neutrons

Answer: A


https://dl.doubtnut.com/l/_UhSenC22vtGX
https://dl.doubtnut.com/l/_jdfC0OqxH4Rr

° View Text Solution

29. Five elements AB,C.D and E have atomic

numbers 2,3,7]0 and 18 respectively. The

elements which belong to the same period of

the periodic table are:

A.AB,C

B.B,C,D

C.AD,E

D. B,D,E


https://dl.doubtnut.com/l/_jdfC0OqxH4Rr
https://dl.doubtnut.com/l/_NH4tCSSsayIw

Answer: B

o View Text Solution

30. The alkaline earth metal present in group 2

and period 3 of the periodic table is:

A. sodium

B. magnesium

C. calcium

D. potassium


https://dl.doubtnut.com/l/_NH4tCSSsayIw
https://dl.doubtnut.com/l/_tz9vVysvve7H

Answer: B

o View Text Solution

31. The position of three elements A,B and C in
the Periodic Table are shown below:
e

Which type of ion, cation or anion, will be

formed by element A?

A. cation

B. anion


https://dl.doubtnut.com/l/_tz9vVysvve7H
https://dl.doubtnut.com/l/_F9R99MQnrEwy

C. both (a) and (b)

D. none of these

Answer: A

o View Text Solution

32. Given below is the electronic configuration
of two elements. Which of these will be more
electronegative?

A=23

B=235


https://dl.doubtnut.com/l/_F9R99MQnrEwy
https://dl.doubtnut.com/l/_4zm8dgenGSlw

A A

B.B

C. Both (a) and (b)

D. None of these

Answer: A

o View Text Solution

33. Where would you locate the element with
electronic configuration 2,7 in the Modern

Periodic Table?


https://dl.doubtnut.com/l/_4zm8dgenGSlw
https://dl.doubtnut.com/l/_Akumy4keulNc

A. Group 8

B. Group 9

C. Group 18

D. Group 10

Answer: B

o View Text Solution

34. The atomic number of element of second

period and sixth group is ?


https://dl.doubtnut.com/l/_Akumy4keulNc
https://dl.doubtnut.com/l/_6KvKHLZCH9bC

A. 20

B. 56

C.38

D. 55

Answer: B

° View Text Solution

35. Which of the following elements do not

belong to same group?


https://dl.doubtnut.com/l/_6KvKHLZCH9bC
https://dl.doubtnut.com/l/_ZObKNEMCNKw9

A. P, As

B. Tc, Re

C. Ag, Hg

D. Ne, Xe

Answer: C

o View Text Solution

36. Given below is the elements of group 14 of

periodic table,

&2


https://dl.doubtnut.com/l/_ZObKNEMCNKw9
https://dl.doubtnut.com/l/_g0PmgIKT8wl0

&2

(i) How many metals are there in the group ?

Al

B.2

C.3

D.O

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_g0PmgIKT8wl0

37. Which type of bond is formed by elements

if this group?

A. lonic

B. Covalent

C. Coordinate

D. Metallic bond

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_i8IBDMcGunpM
https://dl.doubtnut.com/l/_HioVg3de0eo3

38. In the following set of elements, which one
of the following element does not belong to
the set. Calcium, Magnesium, Sodium,
Beryllium.

A. Calcium

B. Magnesium

C.sodium

D. Beryllium

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_HioVg3de0eo3

39. Which of the period in periodic table has

only gaseous elements?

Al

B.2

C.3

D.4

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_HioVg3de0eo3
https://dl.doubtnut.com/l/_MDpVpXEv0zpd

40. Which amongst the given below elements

does not belong to the same period.

6P127 76214? 8R167 11523

A.P,Q and R

B.PandR

C.P,Q,RandS

D.Q andR

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_klKGoF0bFJl1

41. Identify the nature of the element:

Period =3

Valency =4

Physical property = hard

Nature of compounds : Oxide- acidic halide -

covalent.

A. Metal

B. Non-metal

C. Metalloid

D. Inner Transition elements


https://dl.doubtnut.com/l/_AcQ580Jeiyun

Answer: C

o View Text Solution

42. Where would you locate the element with

electronic configuration 2, 8 in the Modern

Periodic Table?

A. Group 8

B. Group 2

C. Group 18

D. Group 10


https://dl.doubtnut.com/l/_AcQ580Jeiyun
https://dl.doubtnut.com/l/_wHLS6FipkOpn

Answer: C

o View Text Solution

43. The outermost shell for elements of period

2 will.

A. K shell

B. L shell

C. M shell

D. N shell


https://dl.doubtnut.com/l/_wHLS6FipkOpn
https://dl.doubtnut.com/l/_rP3Idw72CWZv

Answer: B

o View Text Solution

44, An element X' is forming an acidic oxide.

Its position in modern periodic table will be:

A. Group 1 and Period 3

B. Group 2 and Period 3

C. Group 13 and Period 3

D. Group 16 and Period 3


https://dl.doubtnut.com/l/_rP3Idw72CWZv
https://dl.doubtnut.com/l/_HJNsf7IDJHuM

Answer: D

o View Text Solution

45, The number of electrons in the valence

shell is equal to its ...

A. atomic mass

B. group number

C. period number

D. atomic volume


https://dl.doubtnut.com/l/_HJNsf7IDJHuM
https://dl.doubtnut.com/l/_PoSIG6VuDW6G

Answer: B

o View Text Solution

46. Consider the following statements about
an element 'X' with number of protons 13.

(A) It forms amphoteric oxide.

(B) Its valency is three.

(C) The formula of its chloride is X 5.

The correct statements (s) is/are.

A. only (A)


https://dl.doubtnut.com/l/_PoSIG6VuDW6G
https://dl.doubtnut.com/l/_LBuocTQKa9ne

B. only (B)

C. (A) and (C)

D. (A), (B) and (C)

Answer: D

o View Text Solution

47.The element with atomic number 14 is hard
and forms acidic oxide and a covalent halide.
To which of the following categories does the

element belong?


https://dl.doubtnut.com/l/_LBuocTQKa9ne
https://dl.doubtnut.com/l/_cdnUfIXn9M0w

A. Metal

B. Metalloid

C. Non-metal

D. Left-hand side element

Answer: B

o View Text Solution

48. The modern periodic law is given by.......

A. Mendeleev


https://dl.doubtnut.com/l/_cdnUfIXn9M0w
https://dl.doubtnut.com/l/_6ddmcVYH6XRl

B. Einstein

C. Bohr

D. Mosley

Answer: D

o View Text Solution

49. Which one of the following property does
not increase while moving down the group in

the periodic table ?


https://dl.doubtnut.com/l/_6ddmcVYH6XRl
https://dl.doubtnut.com/l/_GFLZCjQrYa4G

A. Atomic radius

B. Metallic character

C. Valence electrons

D. Number of shells in an element

Answer: C

o View Text Solution

50. 0On moving from left to right in a period in

the periodic table, the size of the atom:


https://dl.doubtnut.com/l/_GFLZCjQrYa4G
https://dl.doubtnut.com/l/_fCt4Vn1X33u3

A. increases

B. decreases

C. does not change appreciably

D. first decreases and then increases

Answer: B

o View Text Solution

51. Aliquid non-metal is ......

A. phosphorous


https://dl.doubtnut.com/l/_fCt4Vn1X33u3
https://dl.doubtnut.com/l/_FbTDZX55kj1e

B. mercury

C. bromine

D. nitrogen

Answer: C

o View Text Solution

52. The period that contains only gaseous

elements are:

Al


https://dl.doubtnut.com/l/_FbTDZX55kj1e
https://dl.doubtnut.com/l/_Qx9epVMvPlmc

B.2

C.3

D.4

Answer: A

o View Text Solution

53. The pairs of elements with the following
atomic numbers have the same chemical

properties:


https://dl.doubtnut.com/l/_Qx9epVMvPlmc
https://dl.doubtnut.com/l/_vP8wicbrGCxu

A.13 and 12

B.3 and 11

C.4 and 24

D.2 and 1

Answer: B

o View Text Solution

54. The positions of four elements A, B, C and
D in the Modern Periodic Table are shown

below. Which element is most likely to form an


https://dl.doubtnut.com/l/_vP8wicbrGCxu
https://dl.doubtnut.com/l/_CfZ0RJ9txaK0

acidic oxide ?

&2

A A

B.B

C.C

D.D

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_CfZ0RJ9txaK0

55. Elements P, Q, R and S have atomic

numbers 11,15, 17 and 18 respectively. Which of

them are reactive non-metals ?

A.Pand Q

B.PandR

C.QandR

D.Rand S

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_tfqvihweqYvK

56. Which of the given elements A, B, C, D and

E with atomic number 2, 3, 7, 10 and 30

respectively belong to the same period ?

A.AB,C

B.B,C,D

C.AD,E

D. B,D,E

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_UqJmDMovXfw5

57. Which pair of elements belong to the same

group if elements A, B, C, D and E have atomic

number 9, 11,17, 12 and 13 respectively.

A.A and B

B.Band D

C.Aand C

D.DandE

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_qZd00aXF6yjh

58. element would lose an electron

A. Mg

B. Na

C.K

D. Ca

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_uz7gqUlRwo25
https://dl.doubtnut.com/l/_XSni8G8pf5YZ

59. Which among the following elements has

the largest atomic radii ?

A. Na

B. Mg

C.K

D. Ca

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_XSni8G8pf5YZ

60. The correct increasing order of the atomic

radii of O, F and N will be:

A. OF,N

B.N,F, O

C. O, N,F

D.F, ON

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_HM1cFhDNHspV
https://dl.doubtnut.com/l/_nryb43WSa2qh

61. Which one of the following elements

exhibits maximum number of valence

electrons ?

A. Na

B. Al

C.Si

D.P

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_nryb43WSa2qh
https://dl.doubtnut.com/l/_Bj66JY8SP5Zt

62. The least reactive element in group 17

A. Fluorine

B. Chlorine

C. Bromine

D. lodine

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_Bj66JY8SP5Zt

63. Three elements B, Si and Ge are:

A. metals

B. non-metals

C. metalloids

D. metal, non-metal and metalloid

respectively

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_wl1ok3oRXTRd
https://dl.doubtnut.com/l/_ldcIVvFNWhqu

64. In periodic table, helium is placed at:

A. top left corner

B. bottom right corner

C. bottom left corner

D. top right corner

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_ldcIVvFNWhqu

65. A factor that affects the ionisation

potential of an element is ......

A. atomic size

B. electron affinity

C. electro-negativity

D. neutrons

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_bAyx5iMCmjhs
https://dl.doubtnut.com/l/_9sltv8uNDfZH

66. Which of the following element forms basic

oxide?

A. Phosphorous

B. Argon

C. Chlorine

D. Potassium

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_9sltv8uNDfZH

67. Which of the two elements will form

covalent bonds?

X =Group 2

Y=Group 14

Z= Group 16

A.XandY

B.Yand Z

C.Zand A

D. None of the above

Answer: B


https://dl.doubtnut.com/l/_kjKQ7Kezq6YA

° View Text Solution

68. The correct order of decreasing metallic

character of elements Na, Si, Cl, Mg, Al

A.Cl gt Si gt Al gt Mg gt Na.

B. Na gt Mg gt Al gt Si gt Cl

C.Na gt Si gt Mg gt Al gt Cl

D. Al gt Na gt Si gt Cl gt Mg

Answer: B

| 8 l


https://dl.doubtnut.com/l/_kjKQ7Kezq6YA
https://dl.doubtnut.com/l/_p6nLfjlLA8jn

69. The positions of four elements A, B, C and
D in the modern periodic table are shown

below.

The correct order of increasing order of

atomic size is:

AC<B<D<A

BA<B<(C<D

CB<(C<A<D


https://dl.doubtnut.com/l/_p6nLfjlLA8jn
https://dl.doubtnut.com/l/_GcjO59HOVX54

DD<C<B<A

Answer: A

o View Text Solution

70. As we move down the group, the number

of shells:

A. increases

B. decreases

C.remain Same


https://dl.doubtnut.com/l/_GcjO59HOVX54
https://dl.doubtnut.com/l/_q1ICyUDE3wyo

D. none of the above

Answer: A

° View Text Solution

71. The commonly used unit of atomic radii is:

A. angstrom

B. meters

C. millimetres

D. centimetres


https://dl.doubtnut.com/l/_q1ICyUDE3wyo
https://dl.doubtnut.com/l/_mxfCu5SvHphC

Answer: A

o View Text Solution

72. Nuclear charge is directly proportional to

the:

A. number of electrons

B. number of neutrons

C. number of protons

D. number of nucleons


https://dl.doubtnut.com/l/_mxfCu5SvHphC
https://dl.doubtnut.com/l/_8BYMpElyS6ZI

Answer: C

o View Text Solution

73. What happens to the nuclear charge as we

move down the group in a periodic table?

A. Increases

B. Decreases

C. Remains the same

D. None of the above


https://dl.doubtnut.com/l/_8BYMpElyS6ZI
https://dl.doubtnut.com/l/_7zSqz2BPbdWy

Answer: A

o View Text Solution

74. The maximum amount of energy required
to remove the most loosely bounded electron
from an isolated, neutral, gaseous atom is
known as:

A. electron Affinity

B. ionisation energy

C. electro negativity


https://dl.doubtnut.com/l/_7zSqz2BPbdWy
https://dl.doubtnut.com/l/_QtHs3bT1EdON

D. none of the above

Answer: B

° View Text Solution

75. Which of the following elements has the

highest electro negativity?

A. Fluorine

B. Oxygen

C. Boron


https://dl.doubtnut.com/l/_QtHs3bT1EdON
https://dl.doubtnut.com/l/_xq7mBeK6ynCc

D. Beryllium

Answer: A

o View Text Solution

76. Which of the following has the highest

atomic size?

A. Magnesium

B. Sodium

C. Sulphur


https://dl.doubtnut.com/l/_xq7mBeK6ynCc
https://dl.doubtnut.com/l/_3yR8dAOFUHRU

D. Chlorine

Answer: B

o View Text Solution

77. Which of the following alkali metals is

radioactive in nature?

A. Potassium

B. Rubidium

C. Caesium


https://dl.doubtnut.com/l/_3yR8dAOFUHRU
https://dl.doubtnut.com/l/_z7IuLH4GX3mj

D. Francium

Answer: D

° View Text Solution

78. Which of the following has zero electron

affinity?

A. Halogens

B. Alkali metals

C. Alkaline earth metals


https://dl.doubtnut.com/l/_z7IuLH4GX3mj
https://dl.doubtnut.com/l/_QZy3OfJBq1RQ

D. Noble gases

Answer: D

° View Text Solution

79. Which of the following is the correct order

of the atomic radii of the elements oxygen,

fluorine and nitrogen?

AO<F<N

BN<F <O


https://dl.doubtnut.com/l/_QZy3OfJBq1RQ
https://dl.doubtnut.com/l/_IVXDTWQGd3Pk

CO<N<PF

D.F<O<N

Answer: D

o View Text Solution

80. Element X forms a chloride with the
formula XCl,, which is a solid with a high
melting point X would most likely be in the

same group of the Periodic Table as.


https://dl.doubtnut.com/l/_IVXDTWQGd3Pk
https://dl.doubtnut.com/l/_viGmM79MxrYW

A. Na

B. Mg

C. Al

D. Si

Answer: B

o View Text Solution

81. Out of Li and Be which has higher

ionisation energy?


https://dl.doubtnut.com/l/_viGmM79MxrYW
https://dl.doubtnut.com/l/_0IVQsmzaYuAg

A. Li

B.Be

C. Both have same

D. None

Answer: A

o View Text Solution

82. Observe the following table :

&2


https://dl.doubtnut.com/l/_0IVQsmzaYuAg
https://dl.doubtnut.com/l/_1B9UkKsdL4Jy

Which element will form an ionic compound
with G ?

A A

B.B

C.C

D.D

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_1B9UkKsdL4Jy

83. Assertion: The triad N, P and As will not
represent the Dobereiner's triad.
Reason: Because there is so much difference in

their atomic masses.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.


https://dl.doubtnut.com/l/_pCjHHmIQXLBp

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: B

o View Text Solution

84. Assertion: The elements of the same group
have similar chemical properties.
Reason: The elements of the same group have

the different number of valence electrons.


https://dl.doubtnut.com/l/_pCjHHmIQXLBp
https://dl.doubtnut.com/l/_tDszw42zsks1

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_tDszw42zsks1

85. Assertion: Mendeleev's periodic table was

not widely accepted. Reason: It is because

hydrogen was not placed properly.

A.if both assertion and reason are true

and reason is the correct explanation of

assertion

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.


https://dl.doubtnut.com/l/_tDszw42zsks1
https://dl.doubtnut.com/l/_Fdwh0AA7tnXz

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: B

o View Text Solution

86. Assertion: Nobel gases are placed in
different group in periodic table.

Reason: Nobel gases are inert in nature.


https://dl.doubtnut.com/l/_Fdwh0AA7tnXz
https://dl.doubtnut.com/l/_kG0xxily1cEw

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_kG0xxily1cEw

87. Assertion: The elements of the different
group have similar chemical properties.
Reason: It is because they have same number

of valence electrons.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct


https://dl.doubtnut.com/l/_kG0xxily1cEw
https://dl.doubtnut.com/l/_pGc2cL4AbSXw

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: D

o View Text Solution

88. Assertion: Metalloids are present in zig-zag
rows in periodic table.

Reason: Metalloids have same properties.


https://dl.doubtnut.com/l/_pGc2cL4AbSXw
https://dl.doubtnut.com/l/_f3R9mEdyrkVw

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_f3R9mEdyrkVw

89. Assertion: Chlorine is called halogen.

Reason: It is because chlorine reacts with

metals to form salts.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.


https://dl.doubtnut.com/l/_f3R9mEdyrkVw
https://dl.doubtnut.com/l/_yGkacXSVg5aM

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: D

o View Text Solution

90. Assertion: Across a period atomic radius
decreases.
Reason: It is because electron is added to the

same shell.


https://dl.doubtnut.com/l/_yGkacXSVg5aM
https://dl.doubtnut.com/l/_OrYuUvkIbvNo

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_OrYuUvkIbvNo

91. Assertion: Sodium is a metal whereas
sulphur is a non-metal.
Reason: From left to right metallic characte:

decreases.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct


https://dl.doubtnut.com/l/_OrYuUvkIbvNo
https://dl.doubtnut.com/l/_lQgYx2NPJEip

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: A

o View Text Solution

92. Assertion: Non-metals are placed on the
right hand side in the periodic table.
Reason: Metalloids shows properties of both

metals and non-metals.


https://dl.doubtnut.com/l/_lQgYx2NPJEip
https://dl.doubtnut.com/l/_p0GcMplaiKGZ

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_p0GcMplaiKGZ

93. Assertion: The atomic radius decreases in
moving from left to right along a period.
Reason: This is due to an increase in nuclear

charge.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct


https://dl.doubtnut.com/l/_p0GcMplaiKGZ
https://dl.doubtnut.com/l/_CxQpB9wDLeVm

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false , but reason is true.

Answer: A

o View Text Solution

94. Assertion : Out of the Na, Mg and Ar, Ar has
the highest ionisation enthalpy.

Reason: Ar has stable inert gas configuration.


https://dl.doubtnut.com/l/_CxQpB9wDLeVm
https://dl.doubtnut.com/l/_eEcEgNBCxts9

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_eEcEgNBCxts9

95. Assertion: Metallic character decreases

across a period.

Reason: Non metals are electropositive in

nature.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct


https://dl.doubtnut.com/l/_eEcEgNBCxts9
https://dl.doubtnut.com/l/_wiWvSCBzDIl2

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: C

o View Text Solution

96. Assertion: The ionisation energy of Mg is
more than sodium.
Reason: The ionisation energy decreases in a

period from left to right.


https://dl.doubtnut.com/l/_wiWvSCBzDIl2
https://dl.doubtnut.com/l/_Q8F2h9C76N1g

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_Q8F2h9C76N1g

97. Assertion: Periodicity in elements is the
basis for the periodic table.

Reason: Henry Mosley gave the modern

periodic law.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct


https://dl.doubtnut.com/l/_Q8F2h9C76N1g
https://dl.doubtnut.com/l/_5nesFPxKV96x

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: B

o View Text Solution

98. Assertion: Chlorine is less electronegative
than fluorine.

Reason: It is because of its small size.


https://dl.doubtnut.com/l/_5nesFPxKV96x
https://dl.doubtnut.com/l/_iuSXosKeZ7nY

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false.

D. If assertion is false, but reason is true.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_iuSXosKeZ7nY

Case Based Questions

1. Read the following passage carefully and
answer the following questions from Q 110 (i)
to 110 (v).

With the constant discovery of a large number
of elements, it became necessary to classify
them and arrange them according to their
periodic properties. Dobereiner arranged the
elements with similar properties into groups.

He classified some groups of three elements


https://dl.doubtnut.com/l/_iuSXosKeZ7nY
https://dl.doubtnut.com/l/_qYGChaYz387W

having similar physical and chemical
properties, called Dobereiner's triads. John
Newland's later arranged all elements in order
of increasing atomic masses and found that
every eighth element has similar properties as
the first one in the chart.

{Cl, Br, I} is a Dobereiner's triad. In this triad, if
the atomic masses of Cl and I are 35.5 and 127

respectively, what is the atomic mass of Br?

A.162.5

B.91.5

C.45.625


https://dl.doubtnut.com/l/_qYGChaYz387W

D. 81.25

Answer: D

o View Text Solution

2. Read the following passage carefully and
answer the following questions from Q 110 (i)
to 110 (v).

With the constant discovery of a large number
of elements, it became necessary to classify

them and arrange them according to their


https://dl.doubtnut.com/l/_qYGChaYz387W
https://dl.doubtnut.com/l/_Etx3XD2am1kI

periodic properties. Dobereiner arranged the
elements with similar properties into groups.
He classified some groups of three elements
having similar physical and chemical
properties, called Dobereiner's triads. John
Newland's later arranged all elements in order
of increasing atomic masses and found that
every eighth element has similar properties as
the first one in the chart.

Which is a Dobereiner's triad:

A. K Al Ca

B. Li, Al, Ca


https://dl.doubtnut.com/l/_Etx3XD2am1kI

C. Li,Na, K

D. Li, K, Na

Answer: C

o View Text Solution

3. Read the following passage carefully and
answer the following questions from Q 110 (i)
to 110 (v).

With the constant discovery of a large number

of elements, it became necessary to classify


https://dl.doubtnut.com/l/_Etx3XD2am1kI
https://dl.doubtnut.com/l/_lFjSIRi65oKq

them and arrange them according to their
periodic properties. Dobereiner arranged the
elements with similar properties into groups.
He classified some groups of three elements
having similar physical and chemical
properties, called Dobereiner's triads. John
Newland's later arranged all elements in order
of increasing atomic masses and found that
every eighth element has similar properties as
the first one in the chart.

Newland's law of Octaves is obeyed by two
elements A and B showing similar properties.

The number of elements between A and B is:


https://dl.doubtnut.com/l/_lFjSIRi65oKq

A.8

B.6

C.7

D.5

Answer: B

o View Text Solution

4. Read the following passage carefully and
answer the following questions from Q 110 (i)

to 110 (v).


https://dl.doubtnut.com/l/_lFjSIRi65oKq
https://dl.doubtnut.com/l/_5kIuPE82njUM

With the constant discovery of a large number
of elements, it became necessary to classify
them and arrange them according to their
periodic properties. Dobereiner arranged the
elements with similar properties into groups.
He classified some groups of three elements
having similar physical and chemical
properties, called Dobereiner's triads. John
Newland's later arranged all elements in order
of increasing atomic masses and found that
every eighth element has similar properties as
the first one in the chart.

Properties of Magnesium are similar to those


https://dl.doubtnut.com/l/_5kIuPE82njUM

of which element according to Newland's law

of octaves?

A. Beryllium

B. Lithium

C. Potassium

D. Sodium

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_5kIuPE82njUM

5. Read the following passage carefully and
answer the following questions from Q 110 (i)
to 110 (v).

With the constant discovery of a large number
of elements, it became necessary to classify
them and arrange them according to their
periodic properties. Dobereiner arranged the
elements with similar properties into groups.
He classified some groups of three elements
having similar physical and chemical
properties, called Dobereiner's triads. John

Newland's later arranged all elements in order


https://dl.doubtnut.com/l/_ipEoTQL1G7BY

of increasing atomic masses and found that
every eighth element has similar properties as
the first one in the chart.
Elements are arranged in Dobereiner's triad
on the basis of:

A. Atomic mass

B. Atomic Number

C. Number of Electrons

D. Number of Neutrons

Answer: A



https://dl.doubtnut.com/l/_ipEoTQL1G7BY

| = VIEW ICXU 501ution ]

6. Read the following passage carefully and
answer the following questions from Q 111 (i)
to 111 (v).

When elements are arranged in the increasing
order of their atomic numbers, we observe the
recurrence of properties of the elements after
certain regular intervals. This recurrence is
known as periodicity. A number of physical
properties such as atomic size, metallic and

non-metallic character, etc. show periodic


https://dl.doubtnut.com/l/_ipEoTQL1G7BY
https://dl.doubtnut.com/l/_epPYivfcrMr2

variation. Properties vary differently moving
from left to right in a period and top to down
in a group. Moving in a period from left to
right, the number of shells remain the same
but valence electron increase by one number.
This results in an increase in nuclear charge.
Going down in a group, the number of valence
shells increases while the valence electrons
remain the same. Observe some periodic table

trends in the given figure.

In the periodic table, the metallic character of

the elements:


https://dl.doubtnut.com/l/_epPYivfcrMr2

A.Increases from left to

decreases down the group

B. Decreases from left to

increases down the group

C.Increases from left to

increases down the group

D. Deceases from left to

decreases down the group

Answer: B

right

right

right

right

and

and

and

and

° View Text Solution



https://dl.doubtnut.com/l/_epPYivfcrMr2

7. Read the following passage carefully and
answer the following questions from Q 111 (i)
to 111 (v).

When elements are arranged in the increasing
order of their atomic numbers, we observe the
recurrence of properties of the elements after
certain regular intervals. This recurrence is
known as periodicity. A number of physical
properties such as atomic size, metallic and
non-metallic character, etc. show periodic

variation. Properties vary differently moving


https://dl.doubtnut.com/l/_epPYivfcrMr2
https://dl.doubtnut.com/l/_OOzKqixqlFPg

from left to right in a period and top to down
in a group. Moving in a period from left to
right, the number of shells remain the same
but valence electron increase by one number.
This results in an increase in nuclear charge.
Going down in a group, the number of valence
shells increases while the valence electrons
remain the same. Observe some periodic table

trends in the given figure.

Moving along a period results in an increase

of


https://dl.doubtnut.com/l/_OOzKqixqlFPg

A. Atomic size

B. Number of valence electrons

C. Electropositive character

D. All of the above

Answer: B

o View Text Solution

8. Read the following and answer the following
questions from Q 112 (i) to 112 (v).

Metallic character: The ability of an atom to


https://dl.doubtnut.com/l/_OOzKqixqlFPg
https://dl.doubtnut.com/l/_XrcEmTLePQjY

donate electrons and form positive ion
(cation) is known as electropositivity or
metallic character. Down the group, metallic
character increases due to increase in atomic
size and across the period, from left to right
electro-positivity decreases due to decrease in
atomic size.

Non-metallic character: The ability of an atom
to accept electrons to form a negative ion
(anion) is called non-metallic character or
electronegativity. The elements having high
electronegativity have a higher tendency to

gain electrons and form anion. Down the


https://dl.doubtnut.com/l/_XrcEmTLePQjY

group, electronegativity decreases due to
increase in atomic size and across the period,
from left to right electronegativity increases

due to decrease in atomic size.

Which of the following correctly represents

the decreasing order of metallic character of

Alkali metals plotted in the graph?

A.Cs >Rb>Li > Na > K

B.K > Rb> Li > Na > Cs

C.Cs > Rb > K > Na > Lz


https://dl.doubtnut.com/l/_XrcEmTLePQjY

D.Cs > K > Rb > Na > Iz

Answer: C

o View Text Solution

9. Read the following and answer the following
questions from Q 112 (i) to 112 (v).

Metallic character: The ability of an atom to
donate electrons and form positive ion
(cation) is known as electropositivity or

metallic character. Down the group, metallic


https://dl.doubtnut.com/l/_XrcEmTLePQjY
https://dl.doubtnut.com/l/_SFPmJ4nMS5bB

character increases due to increase in atomic
size and across the period, from left to right
electro-positivity decreases due to decrease in
atomic size.

Non-metallic character: The ability of an atom
to accept electrons to form a negative ion
(anion) is called non-metallic character or
electronegativity. The elements having high
electronegativity have a higher tendency to
gain electrons and form anion. Down the
group, electronegativity decreases due to
increase in atomic size and across the period,

from left to right electronegativity increases


https://dl.doubtnut.com/l/_SFPmJ4nMS5bB

due to decrease in atomic size.

Hydrogen is placed along with Alkali metals in

the modern periodic table though it shows

non-metallic character:

A.as Hydrogen has one electron and

readily loses electron to form negative

ion

B. as Hydrogen can easily lose one electron

like alkali metals to form positive ion


https://dl.doubtnut.com/l/_SFPmJ4nMS5bB

C. as Hydrogen can gain one electron easily

like halogens to form negative ion

D.as Hydrogen shows the properties of

non metals

Answer: B

o View Text Solution

10. Read the following and answer the
following questions from Q 112 (i) to 112 (v).

Metallic character: The ability of an atom to


https://dl.doubtnut.com/l/_SFPmJ4nMS5bB
https://dl.doubtnut.com/l/_NyxYigkvUYbC

donate electrons and form positive ion
(cation) is known as electropositivity or
metallic character. Down the group, metallic
character increases due to increase in atomic
size and across the period, from left to right
electro-positivity decreases due to decrease in
atomic size.

Non-metallic character: The ability of an atom
to accept electrons to form a negative ion
(anion) is called non-metallic character or
electronegativity. The elements having high
electronegativity have a higher tendency to

gain electrons and form anion. Down the


https://dl.doubtnut.com/l/_NyxYigkvUYbC

group, electronegativity decreases due to
increase in atomic size and across the period,
from left to right electronegativity increases

due to decrease in atomic size.

Identify the reason for the gradual change in

electronegativity in halogens down the group.

A. Electronegativity increases down the

group due to decrease in atomic size

B. Electronegativity decreases down the

group due to decrease in tendency to


https://dl.doubtnut.com/l/_NyxYigkvUYbC

lose electrons

C. Electronegativity decreases down the

group due to increase in atomic radius

tendency to gain electron decreases

D. Electronegativity increases down the

group due to increase in forces of

attractions between nucleus and valence

electrons

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_NyxYigkvUYbC

1. Read the following and answer the
following questions from Q 112 (i) to 112 (v).
Metallic character: The ability of an atom to
donate electrons and form positive ion
(cation) is known as electropositivity or
metallic character. Down the group, metallic
character increases due to increase in atomic
size and across the period, from left to right
electro-positivity decreases due to decrease in
atomic size.

Non-metallic character: The ability of an atom


https://dl.doubtnut.com/l/_NyxYigkvUYbC
https://dl.doubtnut.com/l/_yLZchlMsuQI3

to accept electrons to form a negative ion
(anion) is called non-metallic character or
electronegativity. The elements having high
electronegativity have a higher tendency to
gain electrons and form anion. Down the
group, electronegativity decreases due to
increase in atomic size and across the period,
from left to right electronegativity increases

due to decrease in atomic size.

Which of the following reason correctly
justifies that, "Fluorine (72pm) has smaller

atomic radius than Lithium (152pm)"?


https://dl.doubtnut.com/l/_yLZchlMsuQI3

A.F and Li are in the same group. Atomic

size increases down the group

B.F and Li are in the same period. Atomic

size increases across the period due to

increase in number of shells.

C.F and Li are in the same group. Atomic

size decreases down the group.

D.F and Li are in the same period and

across the period atomic size/radius

decreases from left to right


https://dl.doubtnut.com/l/_yLZchlMsuQI3

Answer: D

° View Text Solution

12. Read the following passage carefully and
answer the following questions from Q113 (1)
to 113 (v).

Atomic radius is defined as the distance
between the center of the nucleus and the
outermost shell of electrons. As the effective
nuclear charge increases as we move left to

right along a period, hence the atomic radii


https://dl.doubtnut.com/l/_yLZchlMsuQI3
https://dl.doubtnut.com/l/_1fX1YKoihifR

decreases. There is a decrease in atomic size
from Li to F in the second period and from Na
to Cl in the third period. In any period the

noble size has the largest radius.

The reason due to which atomic radius

decreases as we move across a period is:

A. atomic number decreases

B. electrons are removed from the atom

C. atomic mass increases

D. effective nuclear charge increases


https://dl.doubtnut.com/l/_1fX1YKoihifR

Answer: D

° View Text Solution

13. Read the following passage carefully and
answer the following questions from Q113 (1)
to 113 (v).

Atomic radius is defined as the distance
between the center of the nucleus and the
outermost shell of electrons. As the effective
nuclear charge increases as we move left to

right along a period, hence the atomic radii


https://dl.doubtnut.com/l/_1fX1YKoihifR
https://dl.doubtnut.com/l/_QhZi4Dk9PPy3

decreases. There is a decrease in atomic size
from Li to F in the second period and from Na
to Cl in the third period. In any period the

noble size has the largest radius.

The correct order of increasing atomic radii

for the element set (O, C, F, Cl, Br] is:

A.FO, C, Cl, Br

B.F, C,0, Cl, Br

C.F,CL,Br,O,C

D. C0O, F, Cl, Br


https://dl.doubtnut.com/l/_QhZi4Dk9PPy3

Answer: A

o View Text Solution

Reasoning Based Questions

1. How does the tendency of the elements to

lose electrons change in the Modern Periodic
Table in .

(1) a group , (ii) a period and why ?

o View Text Solution



https://dl.doubtnut.com/l/_QhZi4Dk9PPy3
https://dl.doubtnut.com/l/_UbHHCDA2HQC3

2. Write the name given to the vertical
columns and horizontal rows in the Modern
Periodic Table. How does the metallic
character of elements vary on moving down a
vertical column? How does the size of atomic
radius vary on moving left to right in a
horizontal row? Give reason in support of your

answer in the above two cases.

o View Text Solution



https://dl.doubtnut.com/l/_Pnw8rX2E6fNi

3. The elements Li, Na and K each having one
valence electron are in the period 2, 3 and 4
respectively of Modern Periodic Table.

(i) In which group of the periodic table should
they be?

(i) Which one of them is least reactive?

(i) Which one of them has the largest atomic

radius? Give reason to justify your answer.

o View Text Solution



https://dl.doubtnut.com/l/_jMVLJqQL2ZTw

4. In the modern periodic table a zig-zag line
separates metals from non-metals. What are

these elements called and why?

o View Text Solution

5. Why are elements chlorine, bromine and

iodine called halogens?

° View Text Solution



https://dl.doubtnut.com/l/_HTs0caEgdjc7
https://dl.doubtnut.com/l/_YldVyJGGMA9Y

6. Why do you think the noble gases are

placed in a separate group?

° View Text Solution

7. What is meant by atomic radius? Explain

why it the decreases across a period?

o View Text Solution



https://dl.doubtnut.com/l/_0yCT7M4tfoXR
https://dl.doubtnut.com/l/_eHLgywRkjq6k

8. Na, Mg and Al are the element of the same
period of modern periodic table having one,
two and three valence electrons respectively,
which of these elements.

(1) has the largest atomic radius,

(i) is least reactive? Justify your answer

starting reason for each case.

o View Text Solution



https://dl.doubtnut.com/l/_d8eBtF4eThrn

9. How does the metallic character of elements
change along a period of the periodic table

from the left to the right and why?

o View Text Solution

10. Nitrogen (Atomic number 7) and
phosphorous (atomic number 15) belong to
group 15 of the periodic table. Write the

electronic  configuration of these two


https://dl.doubtnut.com/l/_WzVVfqv6A1V2
https://dl.doubtnut.com/l/_fG3LzucZxnGI

electrons. Which of these will be more

electronegative and why?

° View Text Solution

11. Explain why:
The elements of the same group have similar

chemical properties.

° View Text Solution



https://dl.doubtnut.com/l/_fG3LzucZxnGI
https://dl.doubtnut.com/l/_l03oPssFunWC

12. Explain why:
The elements of the same period have

different properties.

o View Text Solution

Very Short Answer Type Questions

1. What were the criteria used by Mendeleev in

, creating his periodic table?

o View Text Solution



https://dl.doubtnut.com/l/_C4PFHEagVoDO
https://dl.doubtnut.com/l/_URNvs3C57PfE

2. Besides gallium, which other elements have
since been discovered that were left by

Mendeleev in his Periodic Table? (any two)

o View Text Solution

3. Did Dobereiner's triads also exist in the
columns of Newlands' Octaves? Compare and

find out.

o View Text Solution



https://dl.doubtnut.com/l/_URNvs3C57PfE
https://dl.doubtnut.com/l/_LyqF5uJBtcOx
https://dl.doubtnut.com/l/_5MHbM959IUGm

4. What were the limitations of Dobereiner's

classification?

o View Text Solution

5. In the Modern Periodic Table, which are the

metals among the first ten elements?

o View Text Solution



https://dl.doubtnut.com/l/_ZKIshR8p0UqH
https://dl.doubtnut.com/l/_3dRz50ruif7D

6. Write two reasons responsible for late

discovery of noble gases.

° View Text Solution

7. State one reason for placing Mg and Ca in

the same group of the periodic table.

o View Text Solution



https://dl.doubtnut.com/l/_0dGaauFx3nrS
https://dl.doubtnut.com/l/_dlQCYKuB05Mf

8. By considering their position in the periodic
table, which one of the following elements
would you expect to have maximum metallic
characteristic?

Ga, Ge, As, Se, Be

o View Text Solution

9. Compare the radii of two species X and Y.

Give reasons for your answer.


https://dl.doubtnut.com/l/_VzYW0lMPQwrh
https://dl.doubtnut.com/l/_zV18LxjV5PZe

(i) X has 12 protons and 12 electrons, (ii) Y has

12 protons and 10 electrons.

° View Text Solution

10. If an element X is placed in group 14, what
will be the formula and the nature of bonding

of its chloride?

° View Text Solution



https://dl.doubtnut.com/l/_zV18LxjV5PZe
https://dl.doubtnut.com/l/_9AsMCfRaT0Wo

1. The electronic configuration of two
elements X and Y are 2, 8, 8, 3 respectively.

Write atomic numbers of X and Y.

o View Text Solution

12. Write the atomic numbers of two elements
'X" and 'Y' having electronic configuration 2, 8,

2 and 2, 8, 6 respectively.

o View Text Solution



https://dl.doubtnut.com/l/_MRSuFA7Dhdc4
https://dl.doubtnut.com/l/_0u70LJ2WIDqP
https://dl.doubtnut.com/l/_LLmm9ouIUqJo

13. The atomic numbers of three elements A, B
and C are 12, 18, and 20 respectively. State
giving reason, which two elements will show

similar properties.

° View Text Solution

14. Write any one difference between the
electronic configuration of group-1 and group-

2 elements."

° View Text Solution



https://dl.doubtnut.com/l/_LLmm9ouIUqJo
https://dl.doubtnut.com/l/_s45MoPH36cLX

15. The atomic numbers of three elements X, Y
and Z are 3, 11 and 17, respectively. State giving
reason which two elements will show similar

chemical properties.

° View Text Solution

16. Write the name, symbol and electronic
configuration of an element X whose atomic

number is 11.

° View Text Solution



https://dl.doubtnut.com/l/_rppixnZPq0hs
https://dl.doubtnut.com/l/_TLTIxC0szKjc

17. Answer the following questions:
How would the tendency to lose electrons
change as we go from left to right across a

period of the periodic table?

o View Text Solution

18. Answer the following questions:
How do the atomic radii of elements change
as we go from left to right in a period of the

periodic table?


https://dl.doubtnut.com/l/_TLTIxC0szKjc
https://dl.doubtnut.com/l/_yhBkX3S3GLhY
https://dl.doubtnut.com/l/_uoTkULNacKFk

° View Text Solution

19. Elements have been arrangement in the
following sequence on the basis of their
increasing atomic masses.

F Na, Mg, Al, Si, P, S, Cl, Ar, K

(i) Pick two sets of elements which have similar
properties.

(i) The given sequence represents which law

of classification of elements?

° View Text Solution



https://dl.doubtnut.com/l/_uoTkULNacKFk
https://dl.doubtnut.com/l/_NSyhHC28Ad6p

20. State the following:
Write the formulae of chlorides of Eka-silicon

and Eka - aluminium.

o View Text Solution

21. State the following:
Write the number of elements in 2nd and 5th

period in Modern Periodic Table?

o View Text Solution



https://dl.doubtnut.com/l/_WcnSUixrlh2e
https://dl.doubtnut.com/l/_i7XEtCvzvIXk
https://dl.doubtnut.com/l/_TeblJTZnmDzP

22. State the following:
Write the number of a group in which metallic,
metalloid and non-metallic, all three types of

elements, are present.

o View Text Solution

23. State the following:
Write the number of horizontal rows in the

modern periodic table. What are these rows

called?

o View Text Solution



https://dl.doubtnut.com/l/_TeblJTZnmDzP
https://dl.doubtnut.com/l/_oZqrsBb03SZL

24, State the following:
Write the number of vertical columns in the
modern periodic table. What are these

columns called?

o View Text Solution

25, State the following:

Write the formula used to determine the


https://dl.doubtnut.com/l/_oZqrsBb03SZL
https://dl.doubtnut.com/l/_LwLhWEMN31z8
https://dl.doubtnut.com/l/_N9H4tp55vLY1

maximum numbers of electrons which a shell

in an atom can accommodate?

° View Text Solution

Short Answer Type Questions

1. State the main aim of classifying elements.
Which that is used in the development of
modern periodic table? Name and state the

law based on this fundamental property. On


https://dl.doubtnut.com/l/_N9H4tp55vLY1
https://dl.doubtnut.com/l/_F09X0uPDbNF1

which side of the periodic table one can find

metals, non-metals and metalloids?

° View Text Solution

2. What is Newlands' law of octaves? Explain

with an example.

o View Text Solution

3. State Mendeleev's periodic law. Write two

achievements of Mendeleev's periodic table.


https://dl.doubtnut.com/l/_F09X0uPDbNF1
https://dl.doubtnut.com/l/_5987uxV732hE
https://dl.doubtnut.com/l/_BCvWvODcF9aC

o View Text Solution

4. Answer the following questions:

In Mendeleev 's periodic table the elements
were arranged in the increasing order of their
atomic masses. However, cobalt with atomic
mass of 5893 amu was placed before nickel
having an atomic mass of 58.71 amu. Give

reason for the same.

o View Text Solution



https://dl.doubtnut.com/l/_BCvWvODcF9aC
https://dl.doubtnut.com/l/_gFLTjEHIGAkE
https://dl.doubtnut.com/l/_m9jREgOGSGIT

5. Answer the following questions:
In the classification of the then known
elements, Mendeleev was guided by two

factors. What are those two factors?

o View Text Solution

6. Which group of elements could be placed in
Mendeleev's periodic table without disturbing

the original order? Give reason.

o View Text Solution



https://dl.doubtnut.com/l/_m9jREgOGSGIT
https://dl.doubtnut.com/l/_VEMD4uTtMTYK
https://dl.doubtnut.com/l/_6S0wOKhbX61b

7. How it can be proved that the basic
structure of the Modern Periodic Table is
based on the electronic configuration of

atoms of different elements?

o View Text Solution

8. Use Mendeleev's periodic table to predict
the formulae for the oxides of the following

elements: K, C, Al, Si, Ba.

o View Text Solution



https://dl.doubtnut.com/l/_6S0wOKhbX61b
https://dl.doubtnut.com/l/_ResQZdg8dZSb

9. Can the following groups of elements be
classified as Dobreiner's triad?

(a) Na, Si, Cl, (b) Be, Mg, Ca.

Atomic mass of Be 9, Na 23, Mg 24, Si 28, Cl 35,
Ca 40.

Explain by giving reason.

o View Text Solution

10. How could the Modern periodic table

remove various anomalies of Mendeleev's


https://dl.doubtnut.com/l/_ResQZdg8dZSb
https://dl.doubtnut.com/l/_sR1zIuCcD4iS
https://dl.doubtnut.com/l/_KEw8pHbMNCZR

periodic table?

o View Text Solution

11. Answer the following questions:
What is the basic difference in approach
between Mendeleev's periodic law and the

Modern periodic law?

° View Text Solution



https://dl.doubtnut.com/l/_KEw8pHbMNCZR
https://dl.doubtnut.com/l/_kWXY7Vdpve5G

12. Answer the following questions:
In between nitrogen and oxygen, whose

ionisation energy is high and why?

o View Text Solution

13. Answer the following questions:

How many groups and periods are there in the
modern periodic table? How do the atomic
size and metallic character of elements vary as

we moyve:


https://dl.doubtnut.com/l/_j4zeeapJerPr
https://dl.doubtnut.com/l/_DN3hnw6wjnuh

(a) down a group and

(b) from left to right in a period

o View Text Solution

14. Answer the following questions:

State the changes in valency and metallic
character of elements as well as we move from
left to right in a period. Also state the
changes, if any, in the valency and atomic size

of elements as we move down a group.

o View Text Solution



https://dl.doubtnut.com/l/_DN3hnw6wjnuh
https://dl.doubtnut.com/l/_rsrZHaHv0Mon

15. The position of three elements A, B and Cin

the Periodic Table are shown below:

(i) State whether A is a metal or non-metal.

(i) State whether C is more reactive or less
reactive than A.

(i) Will C be larger or smaller in size than B?
(iv) Which type of ion, cation or anion, will be

formed by element A?

o View Text Solution



https://dl.doubtnut.com/l/_rsrZHaHv0Mon
https://dl.doubtnut.com/l/_yVJN6OMVl0O7
https://dl.doubtnut.com/l/_mIakdOnxQRjJ

16. An element belongs to third period and
group 16 of modern periodic table.
Determine the number of valence electrons

and valency of T.

° View Text Solution

17. An element belongs to third period and
group 16 of modern periodic table.

Molecular formula of the compound when X
reacts with hydrogen and write its electron

dot structure.


https://dl.doubtnut.com/l/_mIakdOnxQRjJ
https://dl.doubtnut.com/l/_nwndYAKd4kKa

° View Text Solution

18. An element belongs to third period and
group 16 of modern periodic table.
Name the element X and state whether it is

metallic or non-metallic.

o View Text Solution

19. The elements of the second period of the

Periodic. Table are given below: Li, Be, B, C, N,


https://dl.doubtnut.com/l/_nwndYAKd4kKa
https://dl.doubtnut.com/l/_psYDwQUwgnDa
https://dl.doubtnut.com/l/_6QKKRNmDDCdu

O, F.
Give reason to explain why atomic radii

decrease from Lito E

o View Text Solution

20. The elements of the second period of the
Periodic. Table are given below: Li, Be, B, C, N,
O, F.

Identify the most (a) metallic and (b) non

metallic element.

o View Text Solution



https://dl.doubtnut.com/l/_6QKKRNmDDCdu
https://dl.doubtnut.com/l/_cNuwrDaewDXS

21. Answer the following questions:
What property do all elements in the same
column of the periodic table as boron have in

common?

° View Text Solution

22. Answer the following questions:
What property do all elements in the same
column of the periodic table as fluorine have

in common?


https://dl.doubtnut.com/l/_cNuwrDaewDXS
https://dl.doubtnut.com/l/_eo5aACaowtEq
https://dl.doubtnut.com/l/_QcN1xEyrmPN2

o View Text Solution

23. An element X of group 15 exists as diatomic
molecule and combines with hydrogen at 773
K in presence of the catalyst to form a
compound, ammonia  which has a
characteristic pungent smell.

Identify the element X. How many valence

electrons does it have?

o View Text Solution



https://dl.doubtnut.com/l/_QcN1xEyrmPN2
https://dl.doubtnut.com/l/_GU41Vh99rdTg
https://dl.doubtnut.com/l/_1HKvO3CioDGx

24. An element X of group 15 exists as diatomic
molecule and combines with hydrogen at 773
K in presence of the catalyst to form a
compound, ammonia  which has a
characteristic pungent smell.

Draw the electron dot structure of the
diatomic molecule of X. What type of bond is

formed in it?

o View Text Solution



https://dl.doubtnut.com/l/_1HKvO3CioDGx

25. An element X of group 15 exists as diatomic
molecule and combines with hydrogen at 773
K in presence of the catalyst to form a
compound, ammonia which has a
characteristic pungent smell.

Draw the electron dot structure for ammonia

and what type of bond is formed in it?

o View Text Solution



https://dl.doubtnut.com/l/_jewZrFNDtjGa

26. Which element has:
two shells, both of which are completely filled

with electrons?

o View Text Solution

27. Which element has:

the electronic configuration 2, 8, 27

o View Text Solution



https://dl.doubtnut.com/l/_5jspSM4leLw7
https://dl.doubtnut.com/l/_EeE0S99G4ADe

28. Which element has:
a total of three shells, with four electrons in

its valence shell?

o View Text Solution

29. Which element has:
a total of two shells, with three electrons in it

valence shell?

o View Text Solution



https://dl.doubtnut.com/l/_vNNvkVJSIB4e
https://dl.doubtnut.com/l/_flsDseZHnWTT
https://dl.doubtnut.com/l/_nBEPU0iFFIRj

30. Which element has:
twice as many electrons in its second shell as

in its first shell?

o View Text Solution

31. An element X (atomic number 17) reacts
with an element Y (atomic number 20) to form
a divalent halide.

Where in the periodic table are elements X

and Y placed?

o View Text Solution



https://dl.doubtnut.com/l/_nBEPU0iFFIRj
https://dl.doubtnut.com/l/_FcQnyLWSKATA

32. An element X (atomic number 17) reacts
with an element Y (atomic number 20) to form
a divalent halide.

Classify X and Y as metal (s), non-metal (s) on

metalloid (s).

o View Text Solution

33. An element X (atomic number 17) reacts

with an element Y (atomic number 20) to form


https://dl.doubtnut.com/l/_FcQnyLWSKATA
https://dl.doubtnut.com/l/_JwrxscTYHW4H
https://dl.doubtnut.com/l/_SSKwRD8mmCZt

a divalent halide.
What will be the nature of oxide of element Y ?
Identify the nature of bonding in the

compound formed.

o View Text Solution

34. An element X (atomic number 17) reacts
with an element Y (atomic number 20) to form
a divalent halide.

Draw the electron dot structure of the

divalent halide.

| |


https://dl.doubtnut.com/l/_SSKwRD8mmCZt
https://dl.doubtnut.com/l/_K6jDPoOvTV5r

L ® View Text Solution I

35. From the following elements:

4Be, 9F, 19K,20Ca

(a) Select the elements having one electron in
the outermost shell.

(b) Two elements of the same group.

Write the formula of the compound and
mention the nature of the compound formed

by the union of 19 K and element X(2, 8, 7).

o View Text Solution



https://dl.doubtnut.com/l/_K6jDPoOvTV5r
https://dl.doubtnut.com/l/_Yru3DrEZKSjN
https://dl.doubtnut.com/l/_qnx30TBaOSqP

36. Answer the following questions:

What are metalloids?

° View Text Solution

37. Answer the following questions:

Name any four metalloids?

o View Text Solution



https://dl.doubtnut.com/l/_qnx30TBaOSqP
https://dl.doubtnut.com/l/_DKmOPpQq7nQy

38. Answer the following questions:
Predict which of the following elements will
form cation and will form anions?

(a) Na,

o View Text Solution



https://dl.doubtnut.com/l/_6hdvgMuxQJs5

39. Answer the following questions:

Name two elements that are inert in nature.

° View Text Solution

40. Name the following elements:
Three elements that have a single electron in

their outermost shells.

° View Text Solution



https://dl.doubtnut.com/l/_UIK2gnAyL1Aq
https://dl.doubtnut.com/l/_poHv0oBjjj1E

41. Name the following elements:
Two elements that have two electrons in their

outermost shells.

o View Text Solution

42.Name the following elements:

Three elements with filled outermost shells.

° View Text Solution



https://dl.doubtnut.com/l/_QXEiz8IrsD0f
https://dl.doubtnut.com/l/_5SA0nPFiIHAf

43. Name the following elements:
Name two elements you would expect to show
chemical reactions similar to magnesium.

What is the basis for your choice?

o View Text Solution

44. Answer the following questions:
Lithium, sodium, potassium are all metals that

react with water to liberate hydrogen gas. Is


https://dl.doubtnut.com/l/_B1mZL1UxR8Sr
https://dl.doubtnut.com/l/_QWId3itJMq0N

there any similarity in the atoms of these

elements?

° View Text Solution

45. Answer the following questions:
Helium is an unreactive gas and neon is a gas
of extremely low reactivity. What, if anything,

do their atoms have in common?

o View Text Solution



https://dl.doubtnut.com/l/_QWId3itJMq0N
https://dl.doubtnut.com/l/_nXQQ72aw8uk4

46. An atom has electronic configuration 2, 8,7.

What is the atomic number of this element?

o View Text Solution

47. An atom has electronic configuration 2, 8,7.
To which of the following elements would it be
chemically similar ? (Atomic numbers are given

in parentheses.) N(7), F(9), P(15), Ar(18).

o View Text Solution



https://dl.doubtnut.com/l/_GU9FZQJ70gO8
https://dl.doubtnut.com/l/_q7GNQVZthh5d
https://dl.doubtnut.com/l/_PQzmgTZf5SNs

48. Nitrogen (atomic number 7) and
phosphorus (atomic number 15) belong to
group 15 of the Periodic Table. Write the
electronic  configuration of these two
elements. Which of these will be more

electronegative? Why?

o View Text Solution

49, Answer the following questions:
Three elements X, Y and Z belong to 17th

group but 2nd, 3rd and 4th period


https://dl.doubtnut.com/l/_PQzmgTZf5SNs
https://dl.doubtnut.com/l/_VCQm4G9f9wx2

respectively. Number of valence electrons in Y
is 7. Find the number of valence electrons in X

and Z.

o View Text Solution

50. Answer the following questions:

Na, Mg, Al and P belong to third period but are
placed in first, second, thirteen and fifteenth
group. Number of shells occupied in Mg is
three. What is the number of occupied shells

in Na, Al and P. Give reasons for your answer.

| |


https://dl.doubtnut.com/l/_VCQm4G9f9wx2
https://dl.doubtnut.com/l/_kg5mFX4pD3AN

L ® View Text Solution I

51. Answer the following questions:

The atomic radius of three elements A, B and C
of a periodic table are 186 pm, 104 pm and 143
pm respectively. Giving a reason, arrange these
elements in the increasing order of atomic

numbers in a period.

o View Text Solution



https://dl.doubtnut.com/l/_kg5mFX4pD3AN
https://dl.doubtnut.com/l/_eva9zMqlQJiF

52. Name any two elements of group one and
write their electronic configuration. What
similarity do you observe in their electronic
configuration? Write the formula of oxide of

any of the above said elements.

o View Text Solution

53. Na, Mg and Al are the elements of the
same period of modern periodic table having

one, two and three valence electrons


https://dl.doubtnut.com/l/_YUYztLAEyfuW
https://dl.doubtnut.com/l/_0zm8vdfjZpzK

respectively. Which of these element (i) has
the largest atomic radius, (ii) is least reactive ?

Justify your answer stating reason for each

case.

° View Text Solution

54. Give an example of:

An inert gas (At .No < 20)

o View Text Solution



https://dl.doubtnut.com/l/_0zm8vdfjZpzK
https://dl.doubtnut.com/l/_WZDkpx7Ax1DF

55. The electronic configuration of an element
is 2, 8, 4. State its:

Group and period in the Modern Periodic

Table.

° View Text Solution

56. The electronic configuration of an element
is 2, 8, 4. State its:

Name and write its one physical property.

° View Text Solution



https://dl.doubtnut.com/l/_CvbOOwfDW3cN
https://dl.doubtnut.com/l/_7ulw1ycsw8qU

57. Based on the group valency of elements
write the molecular formula of the following
compounds giving justification for each :

Oxide of first group elements.

o View Text Solution

58. Based on the group valency of elements
write the molecular formula of the following
compounds giving justification for each :

Halide of the elements of group thirteen, and


https://dl.doubtnut.com/l/_7ulw1ycsw8qU
https://dl.doubtnut.com/l/_7ZDMbVbkCGIG
https://dl.doubtnut.com/l/_EloT67PNH6Zf

° View Text Solution

59. Based on the group valency of elements
write the molecular formula of the following
compounds giving justification for each :

Compound formed when an element, A or
group 2 combines with an element, B of group

seventeen.

o View Text Solution

Long Answer Type Questions



https://dl.doubtnut.com/l/_EloT67PNH6Zf
https://dl.doubtnut.com/l/_uDvMAwDO10Iu

1. List the merits and demerits of Mendeleev

periodic table.

° View Text Solution

2. Answer the following questions:

The modern periodic table has been evolved
through the early attempts of Dobereiner,
Newland and Mendeleev. List one advantage

and one limitation of all three attempts.

° View Text Solution



https://dl.doubtnut.com/l/_Pmb2Zg7q6HA2
https://dl.doubtnut.com/l/_DrnZIbNcmZTD

3. Answer the following questions:
Name the scientist who first of all showed that
atomic number of an element is a more

fundamental property than its atomic mass.

o View Text Solution

4. Answer the following questions:

State Modern Periodic law.

° View Text Solution



https://dl.doubtnut.com/l/_DrnZIbNcmZTD
https://dl.doubtnut.com/l/_FwNYfmbrKgZU
https://dl.doubtnut.com/l/_yLlUKxerKGHR

5. Answer the following questions:
List any three observations which posed a

challenge to Mendeleev's Periodic law.

o View Text Solution

6. Answer the following questions:

How does the metallic character of elements
vary on moving from

(a) left to right in a period,

(b) from top to bottom in a group of the


https://dl.doubtnut.com/l/_yLlUKxerKGHR
https://dl.doubtnut.com/l/_0u79toChilve
https://dl.doubtnut.com/l/_sY2rZ4HbHKnn

Modern Periodic Table?

Give reason for your answer.

o View Text Solution

7. Answer the following questions:

What is a group in the periodic table? In which
part of a group would you separately expect
the elements to have: (a) the greatest metallic

character, (b) the largest atomic size?

o View Text Solution



https://dl.doubtnut.com/l/_sY2rZ4HbHKnn
https://dl.doubtnut.com/l/_LhtWg18CX2xk
https://dl.doubtnut.com/l/_5UDLBcO1dfAj

8. Answer the following questions:
In what respects do the properties of group 1
elements differ from those of group 17

elements?

o View Text Solution

9. Answer the following questions:

From the stand point of atomic structure,
what determines which element will be the
first and which is the last in a period of the

periodic table?


https://dl.doubtnut.com/l/_5UDLBcO1dfAj
https://dl.doubtnut.com/l/_6HsrsyIQc6zl

° View Text Solution

10. Answer the following questions:
Explain why, the properties of elements are
repeated after 2, 8, 18 and 32 elements in the

periodic table.

o View Text Solution

11. Answer the following questions:

What are the advantages of the periodic


https://dl.doubtnut.com/l/_6HsrsyIQc6zl
https://dl.doubtnut.com/l/_DhpHmMLZHXOa
https://dl.doubtnut.com/l/_1FeI8ljksFAk

table?

o View Text Solution

12. The electronic configuration of three
elements A, B and C is given below:
A=2.B=26C=282

Which element belongs to the second period?

° View Text Solution



https://dl.doubtnut.com/l/_1FeI8ljksFAk
https://dl.doubtnut.com/l/_mvRX49fqypTk

13. The electronic configuration of three
elements A, B and C is given below:
A=2.B=26C=28,2

Which one of them is a noble gas?

o View Text Solution

14. The electronic configuration of three
elements A, B and C is given below:
A=2.B=26C=28,2

What is the valency of B?

| & I


https://dl.doubtnut.com/l/_kk3XosTtN99F
https://dl.doubtnut.com/l/_Xzlsx1K54Y1g

| ¥ View Text Solution |

15. The electronic configuration of three
elements A, B and C is given below:
A=2.B=26C=28,2

Name the element C.

° View Text Solution

16. The electronic configuration of three

elements A, B and C is given below:


https://dl.doubtnut.com/l/_Xzlsx1K54Y1g
https://dl.doubtnut.com/l/_UytoJ9dgJPUd
https://dl.doubtnut.com/l/_dvtkkEhKp0xa

A=2.B=26C=282

Which is a metal?

° View Text Solution

17. The electrons in the atoms of four elements
A, B, C and D are distributed in three shells
having 1,3, 5 and 7, electrons respectively in
their outermost shells. Write the group
numbers in which these elements are placed
in the Modern Periodic Table. Write the

electronic configuration of the atoms of B and


https://dl.doubtnut.com/l/_dvtkkEhKp0xa
https://dl.doubtnut.com/l/_XOXaruMTQlPb

D, and the molecular formula of the compound

formed when B and D combine.

° View Text Solution

18. Atoms of eight elements A, B, C, D, E, F, G
and H have the same number of electronic
shells but different number of electrons in
their outermost shell. It was found that
elements A and G combine to form an ionic
compound. This compound is added in a small

amount to almost all vegetable dishes during


https://dl.doubtnut.com/l/_XOXaruMTQlPb
https://dl.doubtnut.com/l/_ELxwyHGH1yzT

cooking. Oxides of elements A and B are basic
in nature while those of E and F are acidic. The
oxide of D is almost neutral. Based on the
above information answer the following
questions:

To which group or period of the Periodic Table

do the listed elements belong?

o View Text Solution

19. Atoms of eight elements A, B, C, D, E, F, G

and H have the same number of electronic


https://dl.doubtnut.com/l/_ELxwyHGH1yzT
https://dl.doubtnut.com/l/_taAdc5DzcQIL

shells but different number of electrons in
their outermost shell. It was found that
elements A and G combine to form an ionic
compound. This compound is added in a small
amount to almost all vegetable dishes during
cooking. Oxides of elements A and B are basic
in nature while those of E and F are acidic. The
oxide of D is almost neutral. Based on the
above information answer the following
questions:

What would be the nature of compound

formed by a combination of elements Band F?

l ° View Text Solution


https://dl.doubtnut.com/l/_taAdc5DzcQIL

20. Atoms of eight elements A, B, C, D, E, F, G
and H have the same number of electronic
shells but different number of electrons in
their outermost shell. It was found that
elements A and G combine to form an ionic
compound. This compound is added in a small
amount to almost all vegetable dishes during
cooking. Oxides of elements A and B are basic
in nature while those of E and F are acidic. The
oxide of D is almost neutral. Based on the

above information answer the following


https://dl.doubtnut.com/l/_taAdc5DzcQIL
https://dl.doubtnut.com/l/_LkAZYT5KBtuw

questions:
Which two of these elements could definitely

be metals?

o View Text Solution

21. Atoms of eight elements A, B, C, D, E, F, G
and H have the same number of electronic
shells but different number of electrons in
their outermost shell. It was found that
elements A and G combine to form an ionic

compound. This compound is added in a small


https://dl.doubtnut.com/l/_LkAZYT5KBtuw
https://dl.doubtnut.com/l/_HM5LZcRwswKP

amount to almost all vegetable dishes during
cooking. Oxides of elements A and B are basic
in nature while those of E and F are acidic. The
oxide of D is almost neutral. Based on the
above information answer the following
questions:

Which one of the eight elements is most likely
to be found in gaseous state at room

temperature?

o View Text Solution



https://dl.doubtnut.com/l/_HM5LZcRwswKP

22. Atoms of eight elements A, B, C,D, E, F, G
and H have the same number of electronic
shells but different number of electrons in
their outermost shell. It was found that
elements A and G combine to form an ionic
compound. This compound is added in a small
amount to almost all vegetable dishes during
cooking. Oxides of elements A and B are basic
in nature while those of E and F are acidic. The
oxide of D is almost neutral. Based on the
above information answer the following

questions:


https://dl.doubtnut.com/l/_PXxi8Whr26nZ

If the number of electrons in the outer most
shell of elements C and G be 3 and 7
respectively, write the formula of the
compound formed by the combination of C

and G.

o View Text Solution

23. Explain the periodicity of following
properties of elements:

Atomic radius

o View Text Solution



https://dl.doubtnut.com/l/_PXxi8Whr26nZ
https://dl.doubtnut.com/l/_fSCyE5wtmi8e

24. Explain the periodicity of following
properties of elements:

lonisation enthalpy

o View Text Solution

25. Explain the periodicity of following
properties of elements:

Electronegativity

o View Text Solution



https://dl.doubtnut.com/l/_fSCyE5wtmi8e
https://dl.doubtnut.com/l/_CLooHz62tD8X
https://dl.doubtnut.com/l/_2ncy1QCjXJLO

Differentiate Between

1. Compare and contrast the arragement of
elements in Mendeleev's periodic Table and

the Modern Periodic . Table.

° View Text Solution

Analysis And Evaluation Based Questions

1. Mendeleev arranged 63 elements known at

that time in the periodic table. According to


https://dl.doubtnut.com/l/_tMEGsaDq91EO
https://dl.doubtnut.com/l/_lpPhzaU4nTk3

Mendeleev " the properties of the elements
are a periodic function of their atomic masses.
" The table consists of eight vertical columns

called ' group' and horizantal rows called
periods. Merits of Mendeleev's Periodic Table :
At some places the order of atomic weight was
changed in order the order of atomic weight
was changed in order to justifly the chemical
and physical nature. Mendeleev left some gap
for new elements which were not discovered
at that time . One of the strengths of

Mendeleev's periodic table was that , when

inert gases were discovered they could be


https://dl.doubtnut.com/l/_lpPhzaU4nTk3

placed in a new group without distrubing the
existing order : Its main characteristics are
that the elements are arranged in vertical
rows called groups and horizontal rows called
periods.

Lo

What is the basis of arrangement of elements

in Mendeleev's periodic table ?

° View Text Solution



https://dl.doubtnut.com/l/_lpPhzaU4nTk3

2. Mendeleev arranged 63 elements known at
that time in the periodic table. According to
Mendeleev " the properties of the elements
are a periodic function of their atomic masses.
" The table consists of eight vertical columns

called ' group' and horizantal rows called
periods. Merits of Mendeleev's Periodic Table :
At some places the order of atomic weight was
changed in order the order of atomic weight
was changed in order to justifly the chemical

and physical nature. Mendeleev left some gap

for new elements which were not discovered


https://dl.doubtnut.com/l/_e8dkRuA169mj

at that time . One of the strengths of
Mendeleev's periodic table was that , when
inert gases were discovered they could be
placed in a new group without distrubing the
existing order : Its main characteristics are
that the elements are arranged in vertical
rows called groups and horizontal rows called
periods.

.

Why were there some gaps in Mendeleev's

periodic table ?

o View Text Solution



https://dl.doubtnut.com/l/_e8dkRuA169mj

3. Mendeleev arranged 63 elements known at
that time in the periodic table. According to
Mendeleev " the properties of the elements
are a periodic function of their atomic masses.
" The table consists of eight vertical columns

called ' group' and horizantal rows called
periods. Merits of Mendeleev's Periodic Table :
At some places the order of atomic weight was
changed in order the order of atomic weight
was changed in order to justifly the chemical

and physical nature. Mendeleev left some gap

for new elements which were not discovered


https://dl.doubtnut.com/l/_W0zwzvZeBZKt

at that time . One of the strengths of
Mendeleev's periodic table was that , when
inert gases were discovered they could be
placed in a new group without distrubing the
existing order : Its main characteristics are
that the elements are arranged in vertical
rows called groups and horizontal rows called

periods.

State whether the statement is true of false
Mendeleev's periodic table consists of eight
vertical columns called groups and horizontal

rows called periods.


https://dl.doubtnut.com/l/_W0zwzvZeBZKt

° View Text Solution

4. Mendeleev arranged 63 elements known at
that time in the periodic table. According to
Mendeleev " the properties of the elements
are a periodic function of their atomic masses.
" The table consists of eight vertical columns

called ' group' and horizantal rows called
periods. Merits of Mendeleev's Periodic Table :
At some places the order of atomic weight was

changed in order the order of atomic weight

was changed in order to justifly the chemical


https://dl.doubtnut.com/l/_W0zwzvZeBZKt
https://dl.doubtnut.com/l/_UZkoPqBVVyrC

and physical nature. Mendeleev left some gap
for new elements which were not discovered
at that time . One of the strengths of
Mendeleev's periodic table was that , when
inert gases were discovered they could be
placed in a new group without distrubing the
existing order : Its main characteristics are
that the elements are arranged in vertical
rows called groups and horizontal rows called

periods.

X, Y and Z are the elements of a Dobereiner's


https://dl.doubtnut.com/l/_UZkoPqBVVyrC

traind. If the atomic mass of X is 7 and that of

Z is 39. What should be the atomic mass of Y ?

o View Text Solution

5. An element belongs to group 2 and element
belongs to group 17 of long form of periodic
table.

How many valence electrons are there in P?

o View Text Solution



https://dl.doubtnut.com/l/_UZkoPqBVVyrC
https://dl.doubtnut.com/l/_VRHeEQbSagw7

6. An element belongs to group 2 and element
belongs to group 17 of long form of periodic
table.

What is the valency of P?

o View Text Solution

7. An element belongs to group 2 and element
belongs to group 17 of long form of periodic
table.

How many valence electrons are there in Q?

| & I


https://dl.doubtnut.com/l/_rSQ8fp7w0zVb
https://dl.doubtnut.com/l/_1ogWpKmaYyNw

| ¥ View Text Solution |

8. An element belongs to group 2 and element
belongs to group 17 of long form of periodic
table.

What is the valency of Q?

o View Text Solution

9. An element belongs to group 2 and element

belongs to group 17 of long form of periodic


https://dl.doubtnut.com/l/_1ogWpKmaYyNw
https://dl.doubtnut.com/l/_GQQa7CVv9Md5
https://dl.doubtnut.com/l/_IzzSrCuAADEO

table.

Write the chemical formula of P and Q.

° View Text Solution

10. By giving reasons state which amongst the
given below elements does not belong to the
same period.

6P12, 7Q14, 8R16, 11523

o View Text Solution



https://dl.doubtnut.com/l/_IzzSrCuAADEO
https://dl.doubtnut.com/l/_GyadYc1ZNGx3

11. An element X has both K and L shell
completely filled with electrons . The element
has atomic number 10.

|dentify the element.

o View Text Solution

12. An element X has both K and L shell
completely filled with electrons . The element
has atomic number 10.

To which group does it belong ?

| & I


https://dl.doubtnut.com/l/_n57gCK3iy7uR
https://dl.doubtnut.com/l/_DNab9A1AMAnd

| ¥ View Text Solution |

13. An element X has both K and L shell
completely filled with electrons . The element
has atomic number 10.

Write its electronic configuration .

o View Text Solution

14. In each of the following pairs, choose the
atom having the bigger size.

Mg (At.No.12) or Ci (At.No. 17)


https://dl.doubtnut.com/l/_DNab9A1AMAnd
https://dl.doubtnut.com/l/_7zmBnMfHG90Y
https://dl.doubtnut.com/l/_zDAQoWkK4rIC

° View Text Solution

15. In each of the following pairs, choose the
atom having the bigger size.

Na (At.No.11) or K (At.N0.19)

° View Text Solution

16. Answer the following questions:

An element X has mass number 40 and


https://dl.doubtnut.com/l/_zDAQoWkK4rIC
https://dl.doubtnut.com/l/_aVPXpvWe7OF2
https://dl.doubtnut.com/l/_gVqXEmLMh31G

contains 21 neutrons in its atom. To which

group of the periodic table does it belong?

° View Text Solution

17. Answer the following questions:
The element X forms a compound X,Y.
Suggest an element that Y might be and give

reasons for your choice.

o View Text Solution



https://dl.doubtnut.com/l/_gVqXEmLMh31G
https://dl.doubtnut.com/l/_FEWKrAiJmihv

18. The elements A, B and C belong to groups 1,
14 and 17 respectively of the periodic table.
Which two elements will form a covalent

compound?

o View Text Solution

19. The elements A, B and C belong to groups 1,
14 and 17 respectively of the periodic table.
Which two elements will form an ionic

compound?

| & I


https://dl.doubtnut.com/l/_IoTNenmAhMo1
https://dl.doubtnut.com/l/_aXfGHKHZgpIP

| ¥ View Text Solution |

20. The elements A, B and C belong to groups
1,14 and 17 respectively of the periodic table.

Noble gases do not react with other elements

Why?

o View Text Solution

21. The elements A, B and C belong to groups 1,

14 and 17 respectively of the periodic table.


https://dl.doubtnut.com/l/_aXfGHKHZgpIP
https://dl.doubtnut.com/l/_UZmq6wucIvYd
https://dl.doubtnut.com/l/_3xK5WRUWTdWC

Atom is electrically neutral but still it has a

tendency to form an ion. Why?

° View Text Solution

22.The atomic numbers of the three elements
X, Y and Z are 2, 6 and 10 respectively. Which
two elements belong to the same group ?
Which two elements belong to the same

period ? Give reasons for your choice.

° View Text Solution



https://dl.doubtnut.com/l/_3xK5WRUWTdWC
https://dl.doubtnut.com/l/_ahbBE2rLRU8W

Creating Based Questions

1. Write the contrasting points present in
modern periodic table ,against the following
given points of Mendeleev's table :

Elements arranged according to atomic mass .

o View Text Solution

2. Write the contrasting points present in

modern periodic table ,against the following


https://dl.doubtnut.com/l/_0YDqsC7BAfbi
https://dl.doubtnut.com/l/_TQEEb1ETPR3X

given points of Mendeleev's table :

It has 8 groups and 6 periods.

° View Text Solution

3. Study the carefully and answer the following
questions from Q 192 (i) to 192(v).

A

Which formula is correct for oxide of D?

A.DO

B.D,0


https://dl.doubtnut.com/l/_TQEEb1ETPR3X
https://dl.doubtnut.com/l/_C0YdpE3xGOnS

C.Dy _(3)

D. D,O:

Answer: C

o View Text Solution

4. Read the following information the and
answer the following questions from Q 193 (i)
to 193 (v).

The following table shows the position of the

elements A,B,C,D,E,F, G, H, |, ), K,L, M, N in the


https://dl.doubtnut.com/l/_C0YdpE3xGOnS
https://dl.doubtnut.com/l/_OIjKLvdgZMlx

period table.

With reference to the table, answer the
follwing:

Atomic size refers to the radius of an atom.
The atomic size may be visualised as the
distance between the centre of the nucleus
and the outermost shell of an isolated atom.
Study the given graph which represents the
trend of atomic size with respect to the

periodic table.


https://dl.doubtnut.com/l/_OIjKLvdgZMlx

Which of the follwing is the correct order for

atomic size ?

AA>B>C> >F

BEF<G<H<<<I

CJ>K>L<M>N

DE<F<G<HCI

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_OIjKLvdgZMlx

5. Read the following information the and
answer the following questions from Q 193 (i)
to 193 (v).

The following table shows the position of the
elements A,B,C,D,E,F, G, H, |, ), K,L, M, N in the

period table.

With reference to the table, answer the
follwing:
Which of the following states Modern Periodic

Law?


https://dl.doubtnut.com/l/_QFTGj7hpyhAM

A. Properties of elements are the periodic

function of their atomic number

B. Properties of elements are the periodic

function of their atomic size

C. Properties of elements are the group

function of their atomic number

D. Properties of elements are the periodic

function of their valency

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_QFTGj7hpyhAM

6. Read the following information the and
answer the following questions from Q 193 (i)
to 193 (v).

The following table shows the position of the
elements A,B,C,D,E,F, G, H, |, ), K,L, M, N in the

period table.

With reference to the table, answer the
follwing:

Which of the following reason correctly


https://dl.doubtnut.com/l/_QFTGj7hpyhAM
https://dl.doubtnut.com/l/_AcXXDaPWJpw3

justifies that "bromine has smaller atomic

radius than potassium"?

A.Br and K are in the same group. Atomic

size increases down the group.

B. Br and K are in the same period. Atomic

size increases across the period due to

increase in number of shells.

C.Br and K are in the same group. Atomic

size decreases down the group.


https://dl.doubtnut.com/l/_AcXXDaPWJpw3

D.Br and K are in the same period. Atomic

size decreases across the period from

left to right.

Answer: D

o View Text Solution

7. Read the following information the and
answer the following questions from Q 193 (i)
to 193 (v).

The following table shows the position of the


https://dl.doubtnut.com/l/_AcXXDaPWJpw3
https://dl.doubtnut.com/l/_ysEimXtCV7VT

elements A,B,C,D,E,F,G,H, |, ), K,L, M, N in the

period table.

With reference to the table, answer the
follwing:
Identify the correct elements from the table.
A. B-boron, C-Neon, M-oxygen
B. G-aluminium, I-Chlorine, K-calcium
C. F-sodium, K- caesium, L- Lithium

D. B-boron, H-carbon, L- Nitrogen

Answer: B


https://dl.doubtnut.com/l/_ysEimXtCV7VT

° View Text Solution

8. Consider the following elements, A, B, C and

D in the given periodic table:
o

Which element is the most electronegative

element?

° View Text Solution



https://dl.doubtnut.com/l/_ysEimXtCV7VT
https://dl.doubtnut.com/l/_wuEf8OTECJPe

9. Consider the following elements, A, B, C and
D in the given periodic table:
Lo

Which element is the most unreactive ?

o View Text Solution

10. Consider the following elements, A, B, C
and D in the given periodic table:
e

Which element forms acidic oxides?

| & I


https://dl.doubtnut.com/l/_UquB1Ktq52gL
https://dl.doubtnut.com/l/_hEbplKcIfgr4

| ¥ View Text Solution |

11. Consider the following elements, A, B, C and
D in the given periodic table:

e

Which element has 6 electrons in outer

orbital?

o View Text Solution

12. Question number 194(i)-194(iv) are based

on table given below. Study the table and


https://dl.doubtnut.com/l/_hEbplKcIfgr4
https://dl.doubtnut.com/l/_un7E2NyFpeXv
https://dl.doubtnut.com/l/_lczIgJoPQnRW

answer the following questions.

|

L

What is valency of oxygen?

° View Text Solution

13. Question number 194(i)-194(iv) are based
on table given below. Study the table and
answer the following questions.

Lo

Give the chemical formula formed by hydrogen

and oxygen.

| e |


https://dl.doubtnut.com/l/_lczIgJoPQnRW
https://dl.doubtnut.com/l/_TRljACQt8ihh

L ® View Text Solution I

14. Question number 194(i)-194(iv) are based
on table given below. Study the table and
answer the following questions.

Lo

What is the electron dot structure of above

formed compound in (ii) part?

o View Text Solution



https://dl.doubtnut.com/l/_TRljACQt8ihh
https://dl.doubtnut.com/l/_m0bFmiyEZ0eU

15. The position of eight elements in the
modern periodic table is given below with
atomic numbers. Period Number.

L&

Answer the following question with reference
to the above table.

Write the electron configuration of Calcium

(Ca).

o View Text Solution



https://dl.doubtnut.com/l/_FAnsXZ6cWinn

16. The position of eight elements in the
modern periodic table is given below with
atomic numbers. Period Number.

L&

Answer the following question with reference
to the above table.

Predict the number of valence electrons in

Strontium (Sr).

o View Text Solution



https://dl.doubtnut.com/l/_tYgTt4XBJ2Yq

17. The position of eight elements in the
modern periodic table is given below with
atomic numbers. Period Number.

L&

Answer the following question with reference
to the above table.

What is the number of shells in Rubidium

(Rb)?

o View Text Solution



https://dl.doubtnut.com/l/_r8eKqt1e3XEH

18. The position of eight elements in the
modern periodic table is given below with
atomic numbers. Period Number.

L&

Answer the following question with reference

to the above table.

Predict whether K is a metal or a non-metal?

o View Text Solution



https://dl.doubtnut.com/l/_l9LYg065wBSa

19. Based on the table given below answer the
following questions:

L

What is the electronic configuration of F?

o View Text Solution

20. Based on the table given below answer the

following questions:

L.

L


https://dl.doubtnut.com/l/_SDKlqwUXmdJL
https://dl.doubtnut.com/l/_T5FEjhmZX7vx

What is the number of valence electrons in the

atom of F?

° View Text Solution

21.Based on the table given below answer the
following questions:

e

Write the size of the atoms of E, F, G and H in

decreasing order.

° View Text Solution



https://dl.doubtnut.com/l/_T5FEjhmZX7vx
https://dl.doubtnut.com/l/_ibunL7OwVQQY
https://dl.doubtnut.com/l/_P2lfsZR7MNYq

22.Based on the table given below answer the
following questions:

o

Out of B, E and F which one has the biggest

atomic size?

° View Text Solution

23. |

What is the electronic configuration of F?

o View Text Solution



https://dl.doubtnut.com/l/_P2lfsZR7MNYq
https://dl.doubtnut.com/l/_Afg6EcqV8zvF

24. ..

What is the number of valence electrons in the

atom of F?

o View Text Solution

25. o
Write the size of the atoms of E, F, G and H in

decreasing order.

o View Text Solution



https://dl.doubtnut.com/l/_n0hz9KKEAVls
https://dl.doubtnut.com/l/_4twmNg6NQrYe
https://dl.doubtnut.com/l/_trZustsRTuFq

26. s
Out of B, E and F which one has the biggest

atomic size?

° View Text Solution

27. An element X forms a chloride with the
formula XCl; which is a solid with a high
melting point. Predict the most likely outer
orbital electronic configuration of X and also

name two more elements from same group of


https://dl.doubtnut.com/l/_trZustsRTuFq
https://dl.doubtnut.com/l/_76iNW55IwwJm

the Periodic Table to which elements X

belongs.

° View Text Solution

28. Oxygen (atomic number 8) and sulphur
(atomic number 16) belong to group 16 of the
periodic  table. Write the electronic
configuration of the two elements. Which of

them will be more electronegative ? Why?

° View Text Solution



https://dl.doubtnut.com/l/_76iNW55IwwJm
https://dl.doubtnut.com/l/_wxJ98y6vq3hC
https://dl.doubtnut.com/l/_fqX2Nv9fQX7c

29. Consider the following elements, A, B, C
and Din the given periodic table :
Lo

Which element is the most electronegative

element?

° View Text Solution

30. Consider the following elements, A, B, C
and Din the given periodic table :

L

Which element is the most unreactive?


https://dl.doubtnut.com/l/_fqX2Nv9fQX7c
https://dl.doubtnut.com/l/_PshoNQwubxuv

° View Text Solution

31. Consider the following elements, A, B, C and
Din the given periodic table :

&2

Which element forms acidic oxides?

o View Text Solution

32. Consider the following elements, A, B, C

and Din the given periodic table :


https://dl.doubtnut.com/l/_PshoNQwubxuv
https://dl.doubtnut.com/l/_ogzglGmkDwit
https://dl.doubtnut.com/l/_BJcGAK93ckCD

&2

Which element has 6 electrons in outer orbital

o View Text Solution



https://dl.doubtnut.com/l/_BJcGAK93ckCD

